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��� �������������	
 �� ������	�� ���	�� � � � � � � � � � � � � � � � � ��

� �
����� ���
���� �� ��������� ��
��� ����	���� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

����� ���	�  ��!"��	� ������#�� � � � � � � � � � � � � � � � � � � � $

��� %!	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &

��
 '	 ���	�	 Mandelbrot ��� �� ���	�� Julia � � � � � � � � � � � � � � &�
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�
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�
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 '	 ��
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��� '	 ��
()�	 Sierpiński� � � � � � � � � � � � � � � � � � � � � � � � � 
+
��� ,-�� .���	 .�#���� � � � � � � � � � � � � � � � � � � � � � � � � � � � 
&
��$ �	�.	���������! �#����� � � � � � � � � � � � � � � � � � � � � � � � ��
��+ �	�.	���������! �#���� /���#����0� � � � � � � � � � � � � � � � � ��
��& �	�.	���������! �#���� /���#����0� � � � � � � � � � � � � � � � � �


��� 1 �������� Hénon� � � � � � � � � � � � � � � � � � � � � � � � � � � �

��� ,-��� �������� �� 	� Hénon� � � � � � � � � � � � � � � � � � � � � � ��
��
 1 �������� Lorenz� � � � � � � � � � � � � � � � � � � � � � � � � � � �+
��� 2�!.	���  �	�	�#� �	� ������� Lorenz� � � � � � � � � � � � � � � � ��
��� 3�	�	�� ��	 � 
 ��	 �)� XY ��*�  ��!"��	� �������� � � � � � � $

��$ 3�	�	�� ��	 � 
 ��	 �)� Y Z ��*�  ��!"��	� �������� � � � � � � $�
��+ 1 �������� Rössler� � � � � � � � � � � � � � � � � � � � � � � � � � � $$
��& -������� �)� Martin ��� Dewdney� � � � � � � � � � � � � � � � � � $&
��� ,-�� ���	��!(������ � � � � � � � � � � � � � � � � � � � � � � � � � � +

���4 ,-�� ���	��!(������ � � � � � � � � � � � � � � � � � � � � � � � � � � +$
���� ,-�� ��!(����� ����������)� (�� ���  ��5������� �"
�)��� � � � � +�
���� - #����� �	� ���(�!����	� ����������)�� � � � � � � � � � � � � � &4
���
 '	 ���	�	 Mandelbrot� � � � � � � � � � � � � � � � � � � � � � � � � &$
���� '	 ���	�	 Mandelbrot �#�� � * #�� ��!(����� �������)�� � � � � &&
���� '	 ���	�	 Mandelbrot �#�� � * �
� ��)������ �	����� � � � � � � �4
���$ '�	 	 	���#�	 ��
()�	 Sierpiński )� #�� ���.��(	� �������* ��6

������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
���+ ,-�� ���.��(	� �������* �������� � � � � � � � � � � � � � � � � � � �$
���& '�	 	 	���#�	 ��
()�	 Sierpiński )� #�� ���.��(	� �������* ��6

������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �&
���� %�	�	��.!���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �4�



�

�

�

�

�

�

�

�

1 & 20 3�4�$ $�"'0 25(

���4 %�	�	��.!��� /���#����0� � � � � � � � � � � � � � � � � � � � � � � � �4�
���� %�	�	��.!��� /���#����0� � � � � � � � � � � � � � � � � � � � � � � � �4

���� ,-�� ���	�	 Julia �#�� � * #�� ��!(����� �������)�� � � � � � � � � �4$
���
 ,-�� ���	�	 Julia �#�� � * #�� ��!(����� �������)�� � � � � � � � � �4&
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��� (�)��* *��7 ��� (��.��! �� � 	�	(����7 	 (�)������*� ��������*�  	�� �	6
�)� ��������#�)� �
��� ��� ����	�� ����(��
�� ��� ��������� ��!��  	�� �	�)�
��������#�)�  �	�� ��� � * .����! .���*����8 �#����7 .��!7 �����.�7 �	��!7 ���� �
����� �� ���(�� 	� �������#� �"��!9	�� ��!.	��� ������#� (�� �� � ����
�	�� ���
����������#� ����*�����7 ���� �� ��� ����!�	�� *�	 �	 �����*�  �����*����� ��!6
�����

,1�� !������ � * ���  ��������� �	� Mandelbrot (�� ��� � ��"� �
�� (�)6
����
�� ��� .���� � 	 	
� �
��� ��� � #����� ��� -����
������ ��� ��5�������
#��	�� � 	 	
� .�
����� *�� #��� ��������� � 	����*���� (�, ���*7 �
��� �� fractal
/5�����#�� �  	������� � �	�.	���������!0 ���	���

'� fractals7 * )� 	�
�5���� � * �	� Mandelbrot7 �
��� ���
�� �� ���	�� �)�
	 	
)� � Hausdorff–Besicovitch ��!�����7 � 	 	
� �
��� (������ #���  ��(�����*�
���5�*�7 ���.#��� � * ��� �	 	�	(��� ��!������ ��(*���� 	 
��	� 	 Mandelbrot
���)�� *�� �
��� ���
�� �� ���	�� �� 	 	
� .��!��	���� ���������� /������ ���6
��������0 ��� #�	��  	��#� *�	��� �������������

:���
���	 �����.#�	� � !���� (������ ��� ���5�� � �����	���� �	��*���� (�� ��
����� �)� fractals )� #�� �	��#�	  	�� �	�)� .������ .���	�#�)�� ;� *�)�7
�*�	 �
(�� �#5	�	� �
��� (�)��#� (�� ���  ���()(� fractal ���*�)��

<  ���� �	� � �.� �� �� �	�.	���������� (�)����
� #(��� *��� � ���#.5���
�	 '���� ��5�������� �	� 3��� �����
	� �5���� 	 William Anderson7 ;�5�6
(����  �5��	���)� ��	 3��� ������	 Mc Gill �	� ;����! ��� 	 	 	
	� #�)�� ���
�
����#"��� �� 5#�� ��  	������� �	� 1������	 �	� ���4� ,=����� � * ���  ���6
�	�	�5��� �)�  ��� !�) ����#"�)�  �	� !5��� �� ��) #�� ����.#� 5#�� ���
 ��
��� ��� �� �)������� ��(��
�� (�� ��� � *����� �	� -��������	� 3���	.	��6
��� ��� - ������������ ,-������� �, ���* �	 ����
	  �)������� ���� � ����	��
�	� - 
�	��	� ;�5�(��� �	� '�����	� 3���	.	����� �	� 3��� �����
	� �5����
��#"����	� � #�7 *�	� �.	�! ���� ��!5��� ��� ���#��� ��� ��� � 	��
"��� �	�
(�� ��� 	�	����)�� ���7  �!(�� (�� �	 	 	
	 ��� �	� ����������

,1�	� �.	�! ��� �	�� ��� *��� ����� ��(��
��7  �	� !5��� (�� ��� *�	 �	 ��6
���*� � �	������  ��	��
��� �)� ���.*�)� ���	��� ��� (�� ��� ��	���� �����	��
5�)�
�� ��� �.���	(���
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��	  ���	 ��.!���	 (
����� ��� ����� ���.	�! ��	�� ������	�� ���	�� ��� ��
)����#��� �	 	�	(��#� #��	���7 ��� ��� ���#���� 	�
9	��� �! 	�	�� �����.#�	����
�������������	��7 * )� �� � ���������*���� ��������� ���������)� /-��07 	�
	 	
	� � 	���	�� �� (#.��� ����"� �)� .������ .���	�#�)� ��� ��� ��� ��!������
�	�� ���� 	5*�� ��*� � 	�	(�����

'	 ������	 ��.!���	 ��������� �� ��#�� �)� -�� �� �� ��	���! �������!
���������7 ���! �� �������
� �������) 
9	���� ��� )� "��)����#� 	��*������

'	  ��!�����7  ���#��� �� ������ �	�!�� �� ��� 	 	
� �����(!9	���� ��  ����6
�*����  �	(�!����� ��� ���#��� �����7 ��5�� ��� ���*��� 	� 	 	
�� � 	���	�� �	
���
)� � 	�#����� ��� *��� ����� ��(��
���

'#�	� 5� �5��� �� ����������) � 
��� ��� ��� ���)�� ;�5�(����� �	� '��6
���	� ��5�������� �	� 3��� �����
	� �5���� >���� 2!��� (�� �� ����	�� ���
�*�	 �� 5#���� � 	�!5�	�7 ��*�� �.�#�)�� �	�  	�����	 ��*�	 ��� (�� �� �	� �"�6
(���� �����!  �!(���� 5�)�
�� �#��	� ��� !��)� 5��!�)�7 *�	 ��� (�� �	 ��!�����
��� ���#��� �����7 ��5�� � 
��� ��� �	�� �����#�.	�� ���"
� � 
��9�	�7 � 	 	
�
�	�  �	�#.��� �����#� �#�� ���	��������  !�) ��	 5#�� ���* ��� � *��	�	 ;!�	
	 	 	
	� ��#���� �� .)�	(�!.��� )����#�)� ���*�)��

< *�� ���#�� (�!.��� �", 	�	����	� ��	� '	�#� ?�)������� 3���	.	�����
�	� '�����	� 3���	.	����� �	� 3��� �����
	� �5���� �� �� �	�5��� ��*� � 	�	6
(���� DFI 486–25/33 UCB ��� ��*� ���� )�� Hewlett Packard Laserjet III7 ���
��  �	(�!����� �
��� (����#�� �� Turbo Pascal Ver 6.0�

1 ��((��.#�� �5���7 ��(	���	� ����
@�3�2



�

�

�

�

�

�

�

�

���	����

2�	 �
��� �� �����! ��)������  	� ����	��(	����� *��� ���.#��� ����
� ��� #��	���
A 	�������B � A fractal ���	��B� '	  ���	 �
��� C'� �
��� ��  	�������DE ��� �	
������	 C�� �� ��������	�� ��  	�������DE� �� "������	��� �	� *� � ��������
����  ���� ��������

�����!��� ��� ��5�
� �� #�� �	��!�� �����	�� < -����
���� (�)����
� ��� �#6
�� *�� ���� �
��� ��� ���*�� �
�� ��!������ ��� ��(������#�� �	� ���	��� '���
� ����
���� ��� ��5�
�� ���#F�� �� (��) (��)7  
�)7 �� �*� �)�
� �� ���������6
�	���� 	� (����#�7 �#���� *�	� (��
��� *�	 �	 ����
� < -����
���� (�)����
� �#��
*�� ���* �
��� ��*�� ��5�
�7 ��� �	�	��!����� ���*��� ���! � ���
�5��� ��� ���
�#�� *�� �� � ��5�
� (��
���  ���)� *�	 �	 � 
 ��	7 5�  �# �� �� �
��� ����!������
,-��� "��
���� ��� � ��!����� ��� ��5������!  ��� � * ����*  ��
 	� ��*����

��5������	
 * )� 	� Cantor, von Koch, Peano, Hausdorff ��� Besicovitch7
����
���� �! 	��� ��� ����7 	� 	 	
�� 	�	�!������ C�#����E7 CF��)���#�E ���
C �5	�	(��#�E� 3�	�!5��� #�� �#	 �
�	� ��!������7 ���! ��� 	 	
� ��� ��� ��� 5�
� 	�	��� �� #��� ���� /����������0 ��!�����7 ������ *�� �*�	 #��� ��#���	 ���5�*�
�������.5���� �����	���#� ������#� ��� � ���������*����� ��.�!����7 	� 	 	
��
� 	�	�� ��  ���(�!F	�� ��� ���� 	� 	 	
�� #�	�� ���������� ��!������ ���!
�)�
� �F���� ��������� F�.���	�� � 	�	(���#�7 	 ��������*� �#�	�)� ��� ��)�
���� ��� ��	�	�*�� ��� � 
 	�� ����(��
�� ,-��� ��� �
���� ����*� ����
� �"#��"�
�, ���*� �	� �! )� �����5���	 �	�#��

< ��.!���� *�)� �)� F�.����� � 	�	(����� #���� �� ���������� �#�	�)� ���6
 ��)� (*���	  �	� #����� #��.	�� 1� � 	�	(���#� ����!.���� ���� � 
����  	��
� ��� ��5�������� � ���������*���)� ��.�!��)�7 ���! ��� 	 	
�� � � *���� ��6
�!����� ����  ����#��	� �"���!��� �*�	 � * ��� � �� ��#��  �	� ��� ��#�	���
���!����� ���  ����#��	�� 1 Dr. Benoit Mandelbrot ���� �	  ���	 !�	�	  	�
#���� ����� ��*� F�.���	� � 	�	(���� (�� ��� �� �!5	� ���������� �)�  	�����6
��� ��� �� � 	���#����! �	� ��� #����� 5����� � 	�	��� � * �	�� ���!  ��!�	��
��5������	���

'	 �� �"�(���� ����
� �� ����� �)�  	�������� �
��� �! )� ����	�*���	� 1
Mandelbrot �����
9���� *��7 * )� �� ������� ���  ����	������ (�)����
�� �
���
	 .����*� ��* 	� ��� ��!������ ��5�� ��)� �����������!�)� /�����(��)�7 ��6
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��)�7 ���(��)� ���� 07 #��� ��� 	� �	�.	���������#� ��� ���� �
��� 	 .����*� ��*6
 	� ��� ��!������ ��������#�)�  	� ��.��
9	���� ��� .���� ,-��� ��  	�������
#�	�� �� �� �"
�7 )� �����������! ������
���� ��� )� #��� ��* 	� ��� ��!������
.������ ������� 3�����#�)7 ��  	������� ��.��
9	���� �� �	� .����	� ���� ��6
.�!���� ��5�������� .���	�#�)�7 * )� ����  �*���F� �������� ������!�)� ���
���� ��"��� � ��
)�� �)�  ��5������ - 
��� � 	�	�� �� ������	 	��5	�� ���
��	�	(
�7 (�)(��.
� ��� ������#�)� ��� (��.��! �� � 	�	(���� )� �#�	 ��� 
����
(��.���� ���	�#�)� /���*�)�0 (�� ���!�	�� ��� ������������ ���	�#�)��

�(�	����� �	� *� ��� ������������ �"
�7 � �������� � !����� ���� �������
C�� �� ��������	�� ��  	�������DE �
��� � �"��8 C'�  	������� .�
����� �� �
6
�	�� ������ ��  	��! �#���  �*���	� ��� !�����  �	������� ���*� �)� 	�
)� �)�
.������ � �������E�

���*  	� ���� ����	�	 �� � 	.����5�
7 ���� �	7 ��  	�	�� ���	��  �# �� ��
�������	��� ��  	�������� 3�����	��� *�� 	� ������	
 ���	� �
��� �������� ���
�����5������ �� �*���	�7 ��� ����	�� � 
��� ���  	��#� �� ��"���� -��
 �����	�6
�� ��  	�������� 1� #��	���  	� ���!(	����  �������!�	�� ��� !(���7 ��(�����7
 ���*����7 ��������*���� ��� ��	�����
� �������� ���)�� '	  �	 �����.#�	� � *
���! �
��� #��� ������*� ���	�7 ����	��9*���	� �� H7 �	� 	 	
	� ��	���
� �
���
�� �� ���! ��� �(� � 	���	�� ��*� ������	� ���	�� ;!�) � * ��� ���!������
���5���� ���*� 	 ���	� �
���  �����7 	� �����#� ��	�	�5
�� ��(��
�	�� ��� �#��
�, ���*� � 	��
 �� ���
 ����
�  	��������

1� �������������	
 �� ������	�� ���	�� #�	�� �� ���	
 �� �����
� �	��� %)6
�
�7  ��� ��� � ���	�
���� ����	���7 5� ���� ������� � �	����	 	
��� .������
��������#�)�7 �.	� ���#� �
���  	� ����#��	�� #�� .����* ������
���	 ��� #���
� 	�	��� �� �	 ��� �������	��� ���� 	5*�� �	� � 	�	(���� ���� �������6
 �	����  	������� )� ���5��! ����
� )����#�)� � ���	�
��)� ����"� ���*�)��
��5�
�	���  )� � 	�	�� ��  ����5	�� ��  	������� ���! ��� �.���	(� � ���
��������������� �� � �	�� ���	��  ��, *�	  	� ���	
 �
��� (�)��������  	��6
 �	�	�� -"�(	��� �� �
��� #�� � ���������*���	 ������� ���������)� /-��0 ���
 �� � 	��
 �� 	�
��� #��  	������#�� '� -�� � 	���	�� #�� ���!����	  ��
��	
(�� ���  ���(��.�7 ��"��*���� ��� � ��	��)�
� �)�  	��������� 3��	���!9	����
��	 ���*���� �	� ����	������	� ��(	�
5�	� (�� ��������* ���*�)�  	���������
�.	� ���	��5	��� �� �� �	����	 	
��� ���.*�)� ����� �#���)�7 ����.*�����
��	 ���
���	.	  �*������ 2	5#��	� ��*� ��� �(	�� �	�.	���������	� � 	��6
�*�	�7  )� � 	�	��� �� ��	��� ��� ���!����� �	�.	����������  �	�#((���  �	�
���*D ,-�� �#�	� ��� � !������ �
����� � * �	 ?������ �����	� ��!��F���

��� ���#���� �"��!9	��� �� �������� �)�  	��������� ��� �������� � ��#� ���
����5����	�*����� �)� ����
)� �� )����#��  	�������� -��!(	���� �� �������!
��������� �� ������	�� ���	��� 3���(�!.	���� 	� ��#�� �)� ��	����7 � )������
��� ���������� ����)�� ;!�	��� ��� ����()(� ��� ���	�� Julia7 �� 	 	
� �
��� ��6
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��
���� ��

��	������!  	������� ���  �	�� �	�� � * ��� � ��!��F� ���������� ���������)��
1 ������������*� ��*�	� �
��� �	 �� ��
"	��� ��	� ���(����� �� �����!��� ���!
��  	������� ������	 	������ ��� ��#�� �)�  �	�(	��#�)�  ���(�!.)�� 1�
9	���
�	 ���	�	 Mandelbrot ��� �"�����	��� ��
�  �����
(����7  �������!�	���� ��� ��6
�*  	� �������.5��� � * �	� Mandelbrot� 3���(�!.	���� ������#� (��.���� (��
 ���()(� ���*�)� ����� �)� ���*�)� ��� �#�	� ���.#�	���� )����#�� 5�)����6
�� � * �� 	 	
�  �	�� ��� #��� ��	�����	� 	����*� �	� ���*�	� Mandelbrot ���
��
���� �� ��#�� �	� �� �� ���	�� Julia�

���� ����	������� (�)����
� �	�#�7 	�
9	����7 � ��	��)�	�� ��� �����	���� ��
�� �	�5��� ��	����)��� ��������������� * )� 	�	 ��!����	� �������������	
7
����������� ���  ������	.#��

,-�� �	�.	���������* ���	�	  ���#��� (������ � �
�)�  	��! ����
� �)� 	6
 	
)� � 	�(!�)�� �
��� �*�	  	�� �	��7 ���� ��� �
��� ������ �  ���(��.� �	�
���*�	� �*�	 �� �	� !���	 ��5	����* ��� �	 	5��
��  	� ��
������ �	 �!5� ����
6
	� ���
 ���	� �	 ���	�	 � 	��
 �� ��5	���5�
 � * ��� ��#���� ����"� �)� 	�	
)�
�	�������  	� �	 � ���
9	���
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�������� 	

� ����� ��� ��
�������

��� ������	
 ���	�

������� �7�7� �������� X ��� 	
 ���
 ������ ��� ρ 	�� ����	������ ��	��
������
�
� 
 ����� �������� ��� ���
	��� X × X� �
���� ����� ρ:X × X → R

������� ����

(i)
ρ(x, y) ≥ 0

���

ρ(x, y) = 0, �� x = y

(ii)
ρ(x, y) = ρ(y, x) ���		������

(iii)
ρ(x, y) ≤ ρ(x, z) + ρ(z, y) ���������� ����
�
���


��� x, y, z ∈ X. ��� ������ ������
�
 ρ ������� ���������� � F���	������� ��� ��
X 	��� 	� �
 ρ ���		��� � (X, ρ) �������� ���������*� � F���	������*� ���	�!

"� 
 ρ ���������� 	
�� �� �#��	��� (i) ��� (iii)� �
�� 
 ρ �������� ����*� �������
��� �� (X, ρ) ����*� ������*� ���	�!

"� �������$��� 

ρ(x, y) = 0 �
�� ��� 	
��� �� x = y �����
�
���

�
�� 
 ρ ������� 
�� ����� 	�� ������� � � *����� ��� �� X 	��� 	� �
 ρ ��������
������*� ���	�! %� ����&��� ��� X ��������� �
	���!
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�� � ����� ��� ����������

"� (X, ρ) ����� ��� 	�����
 &��� ��� Y ⊂ X ����� ��� ���������� �
�� �
(Y, ρ) ����� ����
 ��� 	�����
 &��� � 
��� ρ:Y × Y → R ����� ��� ��������	
 
�
 �����
���
 ρ:X × X → R. ' 	������ ��� ��� Y ������� 
�� �������� ��
��
����	������ ��
 �
 	������ ��� ��� X� ��� � Y ������� 
�� ����� ��� ��
&��� 
��� 	������� &���� X.

8���9�
 �7�7� %� (R, ρ) ����� ��� 	�����
 &��� � 
��� ρ ����� 
 ������
�


 ����� �������� ��� �
� ��������&��

ρ(x, y) = |x − y|,

��� x, y ∈ R. �

8���9�
 �7�7� ����� 
�� �������� �� 	������� &���� (X1, σ1), (X2, σ2), . . . , (Xn, σn)
��� $�����

X =
n∏

i=1

Xi.

(�� ��$� ����� �
	���� x = (x1, x2, . . . , xn), y = (y1, y2, . . . , yn) ∈ X ��� ���
1 ≤ p < ∞� ���� ρp:X ×X → R 
 ������
�
 
 ����� �������� ��� �
� ��������&��

ρp(x, y) =

[
n∑

i=1

σp
i (xi, yi)

]1/p

.

%
�� �� (X, ρp) ����� ��� 	�����
 &��� !

"�
���#
! �� x ��� y * )�  �	�(	��#�)�7 σi(xi, yi) ≥ 0 (�� 1 ≤ i ≤ n ��� (�,
���*� �	� �*(	 ρp(x, y) ≥ 0� �� ρp(x, y) = 07 �*�� σi(xi, yi) = 0 (�� 1 ≤ i ≤ n
��� � 	�#�)� xi = yi (�� �!5� i� ���� ��7 x = y� �������*.)�7 �� x = y7
�*�� σi(xi, yi) = 0 (�� �!5� i ��� ρp(x, y) = 0� �.	� σi(xi, yi) = σi(yi, xi) (��
1 ≤ i ≤ n, ρp(x, y) = ρp(y, x)� '������7 #��) z = (z1, z2, . . . , zn) ∈ X� '*��

ρp(x, y) =

[
n∑

i=1

σp
i (xi, yi)

]1/p

≤
[

n∑
i=1

[σi(xi, zi) + σi(zi, yi)]p
]1/p

≤
[

n∑
i=1

σp
i (xi, zi)

]1/p

+

[
n∑

i=1

σp
i (zi, yi)

]1/p

/����*���� Minkowski0

= ρp(x, z) + ρp(z, y). �



�

�

�

�

�

�

�

�

�7� '������, ����� �-

������
 �7�7� %� (Rn, ρp) ��� 1 ≤ p < ∞ ��� n = 1, 2, . . . ����� ��� 	�����
 
&��� � 
��� ρp: Rn×R

n → R ����� 
 ������
�
 
 ����� �������� ��� �
� ��������&��

ρp(x, y) =

[
n∑

i=1

|xi − yi|p
]1/p

,

��� x = (x1, x2, . . . , xn), y = (y1, y2, . . . , yn) ∈ R
n! %�� 	�����
 &��� (Rn, ρp) ���

��	)������	� 	� �p
n! (�� p = 2 � �2

n ����� � n*�������� ���������� &��� ! �

8���9�
 �7�7� ����� 
�� �������� �� 	������� &���� (X1, σ1), (X2, σ2), . . . , (Xn, σn)
��� $�����

X =
n∏

i=1

Xi.

(�� ��$� ����� �
	���� x = (x1, x2, . . . , xn), y = (y1, y2, . . . , yn) ∈ X ����
ρ∞:X × X → R 
 ������
�
 
 ����� �������� ��� �
� ��������&��

ρ∞(x, y) = max{σi(xi, yi) : 1 ≤ i ≤ n}.

%
�� �� (X, ρ∞) ����� ��� 	�����
 &��� !

"�
���#
! �� x ��� y * )�  �	�(	��#�)�7 σi(xi, yi) ≥ 0 (�� 1 ≤ i ≤ n ��� (�,
���*� �	� �*(	 ρ∞(x, y) ≥ 0� �� ρ∞(x, y) = 07 �*�� σi(xi, yi) = 0 (�� 1 ≤ i ≤ n
��� � 	�#�)� xi = yi (�� �!5� i� ���� ��7 x = y� �������*.)�7 �� x = y7
�*�� σi(xi, yi) = 0 (�� �!5� i ��� ρ∞(x, y) = 0� �.	� σi(xi, yi) = σi(yi, xi)
(�� 1 ≤ i ≤ n, ρ∞(x, y) = ρ∞(y, x)� '������7 #��) z = (z1, z2, . . . , zn) ∈ X�
,-��) *�� j ��� k �
��� ��#���	� �#�	�	�7 ���� ρ∞(x, z) = σj(xj , zj) ��� ρ∞(z, y) =
σk(zk, yk)� ,-���7 (�� 1 ≤ i ≤ n7 σi(xi, zi) ≤ σj(xj , zj)7 σi(zi, yi) ≤ σk(zk, yk) ���
σi(xi, yi) ≤ σi(xi, zi) + σi(zi, yi) ≤ σj(xj , zj) + σk(zk, yk) = ρ∞(x, z) + ρ∞(z, y)�
- 	�#�)�

ρ∞(x, y) = max{σi(xi, yi) : 1 ≤ i ≤ n} ≤ ρ∞(x, z) + ρ∞(z, y). �

������
 �7�7� %� (Rn, ρ∞) ����� ��� 	�����
 &��� � 
��� ρ∞: Rn ×R
n → R

����� 
 ������
�
 
 ����� �������� ��� �
� ��������&��

ρ∞(x, y) = max{|xi − yi| : 1 ≤ i ≤ n},

��� x = (x1, x2, . . . , xn), y = (y1, y2, . . . , yn) ∈ R
n. �

�
�
��,��
�
7
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�1 � ����� ��� ����������

�� ,-��) X #�� ��5�
���	 ���	�	� ?#�	���

ρ(x, y) =
{

0, �� x = y
1, �� x �= y

(�� �!5� x, y ∈ X� -
���  �	.��#� *�� � ρ �
��� ������� ��	 X� < �������
���� �
��� � ���������� �������� �

�� ,-��) *�� (X, ρ) �
��� #��� ������*� ���	�� ?#�	��� σ(x, y) = min{1, ρ(x, y)}
(�� �!5� x, y ∈ X� '*�� � σ �
��� ������� ��	� X� �

������� �7�7� �������� (X, ρ) ��� 	�����
 &��� � x ∈ X ��� ε ��� $����
 
����	����
 ���$	
 ! %� ������

S(x, ε) = {y ∈ X : ρ(x, y) < ε}
�������� ��	���� �.�
�� ������� x ��� ������ ε �� ��� �
 	������ ρ� ��� ��
������

K(x, ε) = {y ∈ X : ρ(x, y) ≤ ε}
�������� ������� �.�
�� ������� x ��� ������ ε �� ��� �
 	������ ρ�!

������� �7�7� ����� M ��� 	�����
 &��� � ����� ����������� ��
 ��� ��+
���� X ��� 	�� 	������ ρ ������� ��� X! "� ����&�� ��� ����	����
 ���$	
 
k > 0 ������ � ���� ρ(x, y) ≤ k ��� ��$� ����� �
	���� x ��� y ��� X� ��	� 
��
� M ����� ��� .��(�#�	� 	�����
 &��� ! ���� 	�����
 &��� � ����� ��� �����
,���	��� ������� 
�� ����� �� .��(�#�	�! -� ����� �
� ��������
 
 ρ(x, y) �������
��	� 
�� $����	� 	����� !

���� ��������� A ��
 	������� &���� (X, ρ) ������� 
�� ����� ,���	���� ���
����&�� ��� ����	����
 ���$	
 r > 0 ������ � ���� ρ(x, y) ≤ r ��� ��$� x, y ∈
A! -����� �� A ����� ,���	���� �� A ⊂ S(X, ρ) ��� ������ r > 0 ��� ������ x
��� X!

�� 	 ������*� ���	� M 	 	 	
	� � 	����
��� � * #�� ���	�	 X �� �������
ρ �
��� �� .��(�#�	�7 � 	�	��� �� 	�
�	��� ��  	��	�� ��* 	�� #��� .��(�#�	
������* ���	 M 	 	 	
	� �� � 	����
��� � * �	 
��	 ���	�	 X �� ��� ���.	������
��������

8���9�
 �7�7� ����� (X, ρ) ��� 	�����
 &��� ! .����	�

ρ1(x, y) =
ρ(x, y)

1 + ρ(x, y)

��� ��$� x, y ∈ X! %
�� �� (X, ρ1) ����� ����
 ��� 	�����
 &��� � ����� �����
,���	��� !
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�7� '������, ����� �	

"�
���#
! ,-��) x, y ∈ X� �.	� ρ(x, y) ≥ 0 #�	��� *�� ρ1(x, y) ≥ 0� ��

ρ1(x, y) = 0 ⇔ ρ(x, y)
1 + ρ(x, y)

= 0 ⇔ ρ(x, y) = 0 ⇔ x = y.

�.	�

ρ(x, y) = ρ(y, x) ⇔ ρ(x, y)
1 + ρ(x, y)

=
ρ(y, x)

1 + ρ(y, x)
⇔ ρ1(x, y) = ρ1(y, x).

'������7 #��) z ∈ X� '*��

ρ1(x, y) =
ρ(x, y)

1 + ρ(x, y)
=

1

1 +
1

ρ(x, y)

≤ 1

1 +
1

ρ(x, z) + ρ(z, y)

=
ρ(x, z) + ρ(z, y)

1 + ρ(x, z) + ρ(z, y)

≤ ρ(x, z)
1 + ρ(x, z)

+
ρ(z, y)

1 + ρ(z, y)
= ρ1(x, z) + ρ1(z, y).

�.	� 0 ≤ ρ1(x, y) ≤ 17 	 (X, ρ1) �
��� #��� .��(�#�	� ������*� ���	�� �

������� �7�7� ����� A ��� ������ ����	������ ���$	��! ���� ���$	
 b ��+
������ ��� !�) .�!(�� ��� A� �� x ≤ b ��� ��$� x ∈ A! ���� ���$	
 c ��������
��� �!�) .�!(�� ��� A� �� c ≤ x ��� ��$� x ∈ A! "� �� A �&�� ��� ��� ����
,���	�� �
�� ������� 
�� ����� .��(�#�	!

���� ��� ,���	� b∗ ��� A �������� ��!����	 !�) .�!(�� � supremum ��� A�
�� ��� ��$� ��� ,���	� b ��� A� ��&��� b∗ ≤ b!

���� ���� ,���	� c∗ ��� A �������� �#(���	 �!�) .�!(�� � infimum ��� A� ��
��� ��$� ���� ,���	� c ��� A� ��&��� c ≤ c∗!

������� �7�7- ����� (X, ρ) ��� 	�����
 &��� ��� ∅ �= A ⊂ X! ' ���
�
��

���	(A) = sup{ρ(x, y) : x, y ∈ A}
������� ��!����	� ��� A!

3�	.���� #�� � 	���	�	 A ��*� ������	� ���	� �
��� .��(�#�	 �*�� ��� �*�	7
�� ����(A) < ∞�

������� �7�71 ����� (X, ρ) ��� 	�����
 &��� ��� ∅ �= A,B ⊂ X! %� ������
��� ����	������ ���$	�� {ρ(x, y) : x ∈ A, y ∈ B} ����� ,���	��� ���� ��
 ��
	
���! %� 	������ ���� ,���	� ���� �������� � *����� 	���#� ��� A ��� ��� B
��� ��	)�������� 	� d(A,B)! "� A = {x}� �
�� d(x,B) = inf{ρ(x, y) : y ∈ B}� ��
����� �������� ��
����
 	���#� ��� x ��� ��� B!



�

�

�

�

�

�

�

�

�. � ����� ��� ����������

������� �7�7	 ����� (X, ρ) ��� 	�����
 &��� ��� A ⊂ X! %� A ����� ��	�6
��* �� ��� �
 	������ ρ�� �� ��� ��$� x ∈ A ����&�� ε > 0� ���� S(x, ε) ⊂ A!
%� A ����� ������* �� ��� �
 	������ ρ�� �� �� X \ A ����� ������
!

����
�9 �7�7� ����� (X, ρ) ��� 	�����
 &��� ��� F(X) 
 ���������� 
���
��� 	
 ����� �������� ��� ,���	���� ������
��� ��� X! (�� ��$� A,B ∈ F(X)
$����	�

h(A,B) = max{sup
x∈A

d(x,B), sup
x∈B

d(x,A)}.

%
�� 
 h ����� 	�� 	������ ��� ��� F (X) �' h ����� 
 	������ Hausdorff�!

"�
���#
! ,-��) A,B ∈ F(X)� ?#�	���

dAB = sup{d(x,A) : x ∈ B} ��� dBA = sup{d(x,B) : x ∈ A},
�� 	 	
� ��!����� !�) .�!(���� #�	�� #��	��7 �.	� �� A,B �
��� .��(�#���

3�	.���� h(A,B) ≥ 0� ��

h(A,B) = 0 ⇔ max{dAB , dBA} = 0
⇔ dAB = 0 = dBA

⇔ sup{d(x,A) : x ∈ B} = 0 ��� sup{d(x,B) : x ∈ A} = 0
⇔ d(x,A) = 0,∀x ∈ B ��� d(x,B) = 0,∀x ∈ A

⇔ x ∈ A,∀x ∈ B ��� x ∈ B,∀x ∈ A

⇔ B ⊂ A = A ��� A ⊂ B = B
⇔ A = B.

- 
���
h(A,B) = max{dAB , dBA} = max{dBA, dAB} = h(B,A).

'������7 #��) C ∈ F(X) ��� c ∈ C� � , �	� 1����* ����$ (�� ��� d(x,B) ���
d(x,A)  �	�� ��� *��7 �� x �
��� #�� �	5#� ����
	 �	� X7 �*�� (�� �!5� ε > 0
� !��	��7 #�� ����
	 b ∈ B ��� #�� ����
	 a ∈ A �#�	��7 ����

ρ(x, b) < d(x,B) + ε, ρ(x, a) < d(x,A) + ε.

,1�)�7

ρ(x, a) ≤ ρ(x, b) + ρ(b, a) < d(x,B) + ε + d(b,A) + ε = d(x,B) + d(b,A) + 2ε
⇒ d(x,A) ≤ ρ(x, a) < d(x,B) + d(b,A) + 2ε

≤ d(x,B) + sup{d(b,A) : b ∈ B} + 2ε = d(x,B) + dAB + 2ε
⇒ d(x,A) < d(x,B) + dAB + 2ε,

	 *��

d(c,A) < d(c,B) + dAB + 2ε
⇒ sup{d(c,A) : c ∈ C} < sup{d(c,B) : c ∈ C} + dAB + 2ε
⇒ dAC < dBC + dAB + 2ε



�

�

�

�

�

�

�

�

�7� '������, ����� ��

������
dAC ≤ dAB + dBC ,

��� 	�	
)�  �	�� ��� *��
dCA ≤ dCB + dBA.

'*��7 �.	� h(A,C) = max{dAC , dCA}7 #�	��� *��

h(A,C) = dAC ≤ dAB + dBC ≤ max{dAB , dBA} + max{dBC , dCB}
= h(A,B) + h(B,C)

�

h(A,C) = dCA ≤ dCB + dBA ≤ max{dCB , dBC} + max{dAB , dBA}
= h(B,C) + h(A,B),

������ �� �!5�  ��
 �)�� � h �
��� ��� ������� !�) �	� X� �

������� �7�7. ��� ������$�� �
	���� (xn)∞n=1 �� ���� 	�����
 &��� (X, ρ)
������� 
�� ��������� ��� ��� �
	��� x ∈ X �� ��� �
 	������ ρ�� �� ��� ��$�
ε > 0� ����&�� n0 = n0(ε) ∈ N ����� ���� ρ(xn, x) < ε ��� ��$� n ≥ n0!

%� �
	��� x �������� �� 
��� �
 ������$�� ��� ���,��	� lim
n

xn = x � xn → x!

>#��7 �	 *��	 ��*�� ����! ��	�	�5
� ���*� ��*� ������	� ���	� ��� � 	��
 ��
��(��
���  �	� ��	 *����

����
�9 �7�7� ����� (X, ρ) ��� 	�����
 &��� ��� (xn)∞n=1 ������$�� �
	��+
�� ���� X! "� xn → x ��� xn → y� �
�� x = y!

"�
���#
! = 	5#�	��� *�� x �= y ��� 5#�	��� ε = ρ(x, y)/2 > 0� '*�� � !��	��
n1, n2 ∈ N ���� ρ(xn, x) < ε,∀n ≥ n1 ��� ρ(xn, y) < ε,∀n ≥ n2� ?#�	���
n0 = max{n1, n2}� �� n ≥ n07 �*��

ρ(x, y) ≤ ρ(x, x) + ρ(x, y) < 2ε = ρ(x, y),

!�	 	� �

������� �7�7� ����� (xn)∞n=1 	�� ������$�� �
	���� ��
 ���
��� X! "�
(kn)∞n=1 ����� 	�� ��
��� ��#���� ������$�� $������ �������� ����� ���� kn ≥ n
��� kn → ∞ ��$� n → ∞� 
 ������$�� (xkn)∞n=1 �������� � ��	�	�5
� �
 
(xn)∞n=1 ��� �� xn → x� �
�� xkn → x! /
����� �� x: N → X ����� 	�� ������+
$�� ��� X� 	�� ��������$�� �
 x �������� ��
 	�� ��
��� ��#���� ������
�

ϕ: N → N ��� ����� 
 ������$�� x ◦ ϕ: N → X!
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�

�6 � ����� ��� ����������

������� �7�7�6 ��� ������
�
 f :X → Y ��
 ���� 	�����
 &��� (X, ρ) ���
 
��
 	������� &���� (Y, σ) ����� ������� �� ��� �� 	������ ρ, σ� ��	 ����
	
x0 ∈ X� �� ��� ��$� ε > 0 ����&�� ��� δ = δ(x0, ε) > 0 ������� ���� ��� ��$�
x ∈ X 	� ρ(x0, x) < δ �� ��&��� σ(f(x0), f(x)) < ε!

' ������
�
 f :X → Y ������� 
�� ����� �������� �� ����� ����&� �� ��$�
�
	��� ��� X!

�
�:�����



� ,-��) D �	 ���	�	 *�)� �)� �� .5��	����7 �� ��"��� ������� ���������)�
f 	� 	 	
�� 	�
9	���� !�) �	� R �� 0 ≤ f ≤ 1� = 	5#��� *�� (�� f, g ∈ D

ρ(f, g) = inf{δ > 0 : f(x − δ) − δ ≤ g(x) ≤ f(x + δ) + δ (�� �!5� x ∈ R}.

'*�� � ρ �
��� ������� !�) �	� D� G���� � ������� /������� ��� 5�)�
�  �6
5��	���)�0 ����
��� ������� Lèvy7 � 	 	
�  ��� �	 *�	�! ��� � * �	� ��(!�	
H!��	  �5��	5�)�����* Paul LèvyI�
/� !������ H�� �!5� f, g ∈ D 5#�	���

A(f, g) = {δ > 0 : f(x − δ) − δ ≤ g(x) ≤ f(x + δ) + δ (�� �!5� x ∈ R}.

3������	��� *�� A(f, g) �= ∅ /��*�� 1 ∈ A(f, g)0 ��� !�� � ρ �
��� �����
)����#��� - 
��� �� δ ∈ A(f, g)7 �*�� δ

′ ∈ A(f, g) (�� �!5� δ
′

> δ� -
���
���� ���	�	 �� �	��� *�� �� ρ(f, g) = 07 �*�� A(f, g) = (0,+∞) ��� !��
g(x) ≤ f(x + δ) + δ ��� f(x) − δ ≤ g(x + δ) (�� �!5� δ > 0 ��� x ∈ R�
3�
��	���� �	 *��	 *��� δ → 07 # ���� f(x) = g(x)∀x ∈ R� 1� � *�	� ��
���*����� ��� �������� � 	������	���� ���*�)� � * ���8

/�0 A(f, f) = (0,+∞),

/�0 A(f, g) = A(g, f) ���

/
0 A(f, h) + A(h, g) ⊂ A(f, g)
(�� �!5� f, g, h ∈ D * 	� A(f, h)+A(h, g) = {δ1+δ2 : δ1 ∈ A(f, h), δ2 ∈
A(h, g)}�

� 	������	��� �*�	 ��� /
0� ,-��) δ1 ∈ A(f, h), δ2 ∈ A(h, g) ��� x ∈ R�
'*��

f(x − δ1 − δ2) − δ1 − δ2 ≤ h(x − δ2) − δ2 ≤ g(x) ≤ h(x + δ2) + δ2

≤ f(x + δ1 + δ2) + δ1 + δ2.

- 	�#�)� δ1 + δ2 ∈ A(f, g).) �
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�

�7� '������, ����� ��

8���9�
 �7�7- �������� (X, ρ) ��� (Y, σ) 	������� &����! ��� f :X → Y �����
	�� ���$��� ������
�
� �
�� 
 f ����� ����&� !

"�
���#
! ,-��) �	5#���7 #�� ����
	 x0 ∈ X ��� ε > 0� - ��#"�� 	�	�� 	�� δ > 07
#��) δ = 1� '*�� 	 	���� 	�� ρ(x, x0) < δ7 #�	���

σ(f(x), f(x0)) = σ(y0, y0) = 0 < ε. �

8���9�
 �7�71 ����� (X, ρ) ��� 	�����
 &��� ! %
�� 
 ��������� ������
�

i:X → X ����� ����&� ! �

������� �7�7�� �������� (X, ρ) ��� (Y, σ) 	������� &����! ��� ������
�

f :X → Y ����� 	�	�	�	�.���*�� ��� ����� 0*0� ���� ����&� ��� 
 ��������,

������
�
 f−1:Y → X ����&� ! "� ����&�� ��� �	���	��,��	
 f :X → Y �
�
�� �� &���� X,Y �������� 	�	�	�	�.��	
 ��� ��	)����� ���,��	� X ≈ Y !

������� �7�7�� ��� ������
�
 f :X → Y ��
 ���� 	�����
 &��� (X, ρ) ���
 
��
 	������� &���� (Y, σ) ����� 	�	�	�*�.)� ������� �� ��� �� 	������ ρ, σ��
�� ��� ��$� ε > 0 ����&�� ��� δ = δ(ε) > 0 ������� ���� ��� ��$� x, x1 ∈ X 	�
ρ(x, x1) < δ �� ��&��� σ(f(x), f(x1)) < ε!

1������
�
! �� � f :X → Y �
��� 	�	�	�*�.)� �������7 �*�� � f �
��� ��������

������� �7�7�� �������� (X, ρ) ��� (Y, σ) 	������� &���� ��� T 	�� �����
���

��
 �� X ���
 ��� Y ! %
�� 
 T ������� 
�� ����� Lipschitz� �� ����&�� ��� 
����	����
 ���$	
 M ������ � ���� ��� ��$� x, y ��� X �� �&��	� σ(Tx, Ty) ≤
Mρ(x, y)! ' T ������� 
�� ����� ���!������� �� M = 1 ��� ����	��� �� M < 1!
2����	� �
� T ����	����� �� ��� ��$� x, y ��� X ��� x �= y �&��	� σ(Tx, Ty) <
ρ(x, y)!

3���������� *�� ����	�� ⇒ ����	���� ⇒ ���!������ ⇒ Lipschitz�
�
�
��,��
�


�� ��� ����	���� T 7 � 	 	
� ��� �
��� ����	���

,-��) X = [1,∞) ��� Tx = x + 1/x� '*�� (�� x, y ∈ X ��� x �= y7 #�	���

ρ(Tx, Ty) = |x − y|xy − 1
xy

< ρ(x, y).

�� � ���� M < 1 �#�	�	7 ����

ρ(Tx, Ty) ≤ Mρ(x, y) ⇔ ρ(x, y)
(

1 − 1
xy

)
≤ Mρ(x, y) ⇔ M ≥ 1 − 1

xy
.
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�

�

�� � ����� ��� ����������

�.	�

lim
y→∞

xy − 1
xy

= 1,

� T ��� �
��� ����	��� �

�� ��� ����	���

,-�� � �*  ��!���(�� �
��� � Tx = x/2 (�� x ∈ (−∞,∞)� ,-��  �	 �����.#6
�	�  ��!���(�� �
��� �	 ��*�	�5	8 #��) X = C([0, 1]) �� �� ����5� AsupB
�������� '*�� � � ���*���� T :X → X ��

T [f ](t) = k

∫ t

0
f(x)dx, (0 ≤ t ≤ 1)

�
��� ��� ����	�� (�� 0 < k < 1� �

$� ��� � ���*���� � 	 	
� �
��� ����	�� �*�	 ���! � * � ��!��F��

?�)����� ��� � ���*���� T :C([a, b]) → C([a, b]) /�� �� AsupB ������� ���
−∞ < a < b < ∞0 �� �� 	

T [f ](t) =
∫ t

a
f(x)dx.

'*�� #�	���

Tm[f ](t) =
1

(m − 1)!

∫ t

a
(t − x)m−1f(x)dx.

'��� �
��� ��.#� *�� (�� �����! ��(!��� ���#� �	� m � � ���*���� T �
��� ���
����	��7 ��� � 
��� T ��� �
��� � �������)� ����	��7 �� b − a > 1� �

����
�9 �7�7� �������� (X, ρ) ��� (Y, σ) 	������� &����! ��� �����
���
 T :X →
Y 
 ����� ����� ,���	��
� ��� �
	����� 
�� ���������� ��������� ��
 �� ������,��+
$���� ���$��
� �
���� ����&�� M > 0 ���� σ(Tx, Ty) ≤ Mρ(x, y) ��� ��$�
x, y ∈ X� ����� �	���	
�,� ����&� !

"�
���#
! ,-��) ε > 0� ?#�	��� δ = ε/M > 0� �� x, y ∈ X ���� ρ(x, y) < δ7
�*��

σ(T (x), T (y)) ≤ Mρ(x, y) < M(ε/M) = ε.

,��� � T �
��� 	�	�	�*�.)� �������� �
1 ��*�	�5	� 	����*� �
��� ������  ��
 �)�� �	�  �	�(	��#�	��
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�7� '������, ����� ��

������� �7�7�� ��� ������
�
 T :X → X �� ���� 	�����
 &��� (X, ρ) �����+
��� ����	��� �� ����&�� 0 ≤ M < 1 ������� ���� ρ(Tx, Ty) ≤ Mρ(x, y) ��� ��$�
x, y ∈ X! 3��������� ������ ���$	
 M ��������  ��!()� ���������*����� �
 
T !

������
 �7�7� ����� (X, ρ) ��� 	�����
 &��� ��� 
�� 
 T :X → X �����
�������! %
�� 
 T ����� �	���	
�,� ����&� ! �

������
 �7�7� ����� (X, ρ) ��� 	�����
 &��� ! ' 	������ ρ:X × X → R

����� �	���	
�,� ����&� ������
�
 ���� 	�����
 &��� (X × X, ρ1)� 
��� ρ1

����� 
 	������ ��� .����	��� 0!0!4!

"�
���#
! H�� �!5� x1, x2, y1, y2 ∈ X ������

ρ(x1, x2) ≤ ρ(x1, y1) + ρ(y1, y2) + ρ(y2, x2).

���� �� #�	��� *��

ρ(x1, x2) − ρ(y1, y2) ≤ ρ(x1, y1) + ρ(x2, y2).

����*()� � 	���������� *��

ρ(y1, y2) − ρ(x1, x2) ≤ ρ(x1, y1) + ρ(x2, y2).

,��� ������

|ρ(x1, x2) − ρ(y1, y2)| ≤ ρ(x1, y1) + ρ(x2, y2) = ρ1((x1, x2), (y1, y2)).

���� �� � * ���  �	�(	�����  �*����  �	�� ��� *�� � ρ �
��� 	�� �������� �

������
 �7�7- ����� (X, ρ) ��� 	�����
 &��� ��� ∅ �= A ⊂ X! ' ������
�

ϕ:X → R 	� ϕ(x) = d(x,A) ����� �	! ����&� !

"�
���#
! ,-��) x, y ∈ X� �� z ∈ A7 �*�� � * �	� 1����* ����$ #�	��� *��

d(x,A) ≤ ρ(x, z).

,���
d(x,A) ≤ ρ(x, y) + ρ(y, z)

(�� �!5� z ∈ A� ���� ��

d(x,A) − d(y,A) ≤ ρ(x, y).

����*()� � 	���������� *��

d(y,A) − d(x,A) ≤ ρ(x, y).

,���
|d(x,A) − d(y,A)| ≤ ρ(x, y)

(�� �!5� x, y ∈ X. �
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�� � ����� ��� ����������

����
�9 �7�7� "� f, g:X → X ����� ���������� ������� �� ���� 	�����

&��� (X, ρ) 	� ���������� ������� s ��� t ��������&� � �
�� 
 f ◦ g ����� 	��
������
�
 ������� 	� ��������� ���������
�
�� st!

"�
���#
! H�� x, y ∈ X #�	���

ρ(f(g(x)), f(g(y))) ≤ sρ(g(x), g(y)) ≤ stρ(x, y). �

������� �7�7�- �������� (X, ρ) ��� 	�����
 &��� ��� S ⊂ X! ��� �������
O� �������� ������
��� ��� X� ������� 
�� ����� ��� ��	���* �!����� ��� S� ��
S ⊂ ∪A∈OA!

���� S ⊂ X �������� ��� �(#�� �� ��$� ������
 ����		� ��� S �&�� ��� ����+
���	��� �������		�!

3 (X, ρ) �������� ���5���
�)� ��� �(��� �� ��$� ���$	���	� ������
 ����		�
��� X �&�� ��� �������	��� �������		�!

3 (X, ρ) �������� ��	�	�5����� ��� �(��� �� ��$� �����
 ������$�� ���� X
�&�� 	�� ����������� ��������$��!

������� �7�7�1 ����� (X, ρ) ��� 	�����
 &��� ! %
�� H(X) ��	)������ ���
&��� ��� ������ �
	��� ����� �� ��	����� ���,������� ��� ������ ��������� ���
X� �
����

H(X) = {∅ �= A ⊂ X : A ��	���� }.
< ���.	�! ����"� ��*� � 	���*�	� �	� H(X) ��� ��*� �� ���	� ��� �(	�� �6

 	���*�	� �	� X �
��� *��7 �	 H(X) �
��� #�� ���	�	 ���*�)�7 !�� �!5� � 	���	�*
�	� �
��� #�� ���	�	 ��� �(�� ���*�)��

����
�9 �7�7- ����� (X, ρ) ��� 	�����
 &��� � x ∈ X ��� A ∈ H(X)! %
��
����&�� y ∈ A ���� d(x,A) = ρ(x, y)!

"�
���#
! ?�)�	��� �� ���!����� ϕ:A → R �� ϕ(y) = ρ(x, y) (�� �!5� y ∈ A�
� * �	 3*����� ����� #�	��� *�� � ϕ �
��� 	�	�	�*�.)� �������7 !�� ��� ��������
?#�	��� P = d(x,A) = inf{ρ(x, y) : y ∈ A}� '*�� � !���� ��	�	�5
� (yn) � *
��	���
� �	� A ����

lim
n→∞ |ϕ(yn)| = P ⇔ lim

n→∞ϕ(yn) = P,

��*�� ϕ(y) ≥ 0 (�� �!5� y ∈ A� - ���� *�)� �	 A �
��� ��� �(#�7 !�� ��� ��	6
�	�5����� ��� �(#�7 � ��	�	�5
� (yn)  ���#��� ��� ��(��
�	���7 #��) �� �! 	�	
y7 � ��	�	�5
�� %�����	 	������ ��� �� ���#���� ��� ϕ #�	��� *�� P = ϕ(y)7 (��
�! 	�	 y ∈ A7 ������ d(x,A) = ρ(x, y) (�� �! 	�	 y ∈ A� �

���.��)� �� ���  �	�(	�����  �*���� �	 ���	�	 �)�  ��(������� ���5���
{ρ(x, y) : y ∈ A} * 	� x ∈ X ��� A ∈ H(X) #��� ��� ��!����� ���� 	 *��  �	�� ���
��� 	 �!�)5�
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�

�7� '��
��9�
�����, �� �������;� ������ �-

������� �7�7�	 ����� (X, ρ) ��� 	�����
 &��� � x ∈ X ��� A ∈ H(X)! %
��
� ��
����
 	���#� ��� x ��� ��� A $�����	� �� min{ρ(x, y) : y ∈ A}!

����
�9 �7�71 ����� (X, ρ) ��� 	�����
 &��� � x ∈ X ��� A,B ∈ H(X)!
%
�� ����&��� x ∈ A ��� y ∈ B ���� d(A,B) = ρ(x, y)!

"�
���#
! �������#.	���� �	�� �*�	�� ��
��	���7 * )� ��� ���� 3�*���� �����7
*�� � !��	�� x ∈ A, y ∈ B ���� d(A,B) = ρ(x, y)� �

������� �7�7�. ����� (X, ρ) ��� 	�����
 &��� ! %
�� 
 � *����� Hausdorff
	���#� ��� �
	���� A ��� B ��� H(X) �������� ��
 �
�

h(A,B) = max{max
x∈A

d(x,B),max
x∈B

d(x,A)}.

������� �7�7�� ���� 	�����
 &��� X �������� �������	�� �� X = A ∪ B�

��� A ��� B ����� #��� 	
 ���� ������� ��������� ��� X!

2����	� ��� X ��������*� �� ��� ����� �������� !
3 X ����� 	����� �������	�� �� �� 	
�� 	
 ���� �������	��� ��������� ���

����� 	���������!

��
 �������������	
 �� ������	�� ���	��

������� �7�7� ����� (X, ρ) ��� 	�����
 &��� ! ���� �������������*� ����
X ����� 	�� ������
�
 f :X → X� 
 ����� ��������&�� ����)� ��� �
	��� f(x) ∈ X
�� ��$� �
	��� x ∈ X!

������� �7�7� ����� f :X → X ��� 	����&
	����	
 �� ���� 	�����
 &���!
3� #� �	�5�� � �����F��� ��� f ����� �� 	����&
	����	�� f◦n:X → X �� ������
��������� ��
 �� 

f◦ 0(x) = x, f◦ 1(x) = f(x), . . . , f◦n(x) = f ◦ f◦ (n−1)(x) = f(f◦ (n−1)(x))

��� n = 0, 1, 2, . . .! "� � f ����� ��������5�	� � �
�� �� * ��5�� � �����F��� ��� f
����� �� 	����&
	����	�� f◦ (−m):X → X �� ������ ��������� ��
 �� 

f◦ (−1)(x) = f−1(x), . . . , f◦ (−m)(x) = (f◦m)−1(x)

��� m = 1, 2, 3, . . .!

�
�
��,��
�




�

�

�

�

�

�

�

�

�1 � ����� ��� ����������

�� ,-��) f :X → X #��� �������#F��	� �������������*�� 2�
"�� *��

f◦m ◦ f◦n = f◦ (m+n)

(�� �!5� m,n ∈ Z�

/"����
�
� �� m,n ∈ Z
∗− #�	��� *��

f◦m ◦ f◦n = (f◦ (−m))−1 ◦ (f◦ (−n))−1 = (f◦ (−n) ◦ f◦ (−m))−1

= (f◦ [(−n)+(−m)])−1 = f◦ (n+m)).�

�� ,-��� �������������*� f : R → R 	�
9���� � , �	� �� 	 f(x) = 2x (�� �!5�
x ∈ R� -
��� 	 f �������#F��	�D @��
�� #��� �� 	 (�� �	�� f◦n(x) 	 	 	
	�
�� �.���*9���� (�� �!5� x ∈ R.

/"�8 J��7 f◦n(x) = 2n(x)7 n = 0, 1, . . . ��� f◦ (−m)(x) =
1

2m
x7 m = 1, 2, . . .0�

�


� ,-��� �������������*� f : [0, 1] → [0, 1] 	�
9���� � * �	� �� 	 f(x) = 1
2x�

-
��� ���*� 	 �������������*� #��  �	� #��D - 
D �������#F��	�D

/"�8 J��7 *��7 *��0� �

�� < � ���*���� f : [0, 1] → [0, 1] 	�
9���� � * �	� �� 	 f(x) = 4x(1 − x)� -
���
���*� 	 �������������*� #��  �	� #��D - 
D �������#F��	�D

/"�8 < f �
��� ����� )����#�� ��*�� �.	� 0 ≤ x ≤ 1 !�� y = 4x(1− x) ≥ 0�
- 
���7 �� y/4 = x − x2 ⇔ x2 − x + y/4 = 07 �*��  �# �� Δ ≥ 0 ⇔ 1 − y ≥
0 ⇔ y ≤ 1� '������ 0 ≤ y ≤ 1 ⇔ y ∈ [0, 1]� J��7 ���7 ���0� �

�� < f : R2 → R
2 	�
9���� � * �	� �� 	 f(x1, x2) = (2x1, x

2
2 + x1) (�� �!5�

(x1, x2) ∈ R
2� 2�
"�� *�� � f ��� �
��� �������#F���� 2���� #��� �� 	 (��

��� f◦ 2(x)�

/"�8 2�� �
��� �K�7 f◦ 2(x) = (4x1, x
4
2 + x2

1 + 2x2
2x1 + 2x1)0� �

������� �7�7� ��� �����
���
 Tb: Rn → R
n 	� Tb(x) = x+b� b ∈ R

n ���	������
����.	�! � �����* ���! ' 	���,��� ����� 	�� �	,�	�����	���
 ���� �����
���
! "�+
������,
 �
 Tb ����� 
 T−b! %����� ����������� 	����������� �
	��� ��������� 
��� �� ������	� b!

������� �7�7� ���� 	����&
	����	
 

�� �
 ��$��� R �

)� ��� �������� R
2 �
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�

�

�

�

�

�

�

�7� '��
��9�
�����, �� �������;� ������ �	

�� ��� &���� R
3

�������� 	�	 ��!����	� � ���������#�	�� 
��� ����������� ��$��� �� ��$��� ���
����
��� �
� ��	� ��� ����� �
��� ����� �
	���� ���	���� ��� ��$��� � �
����
	��������� �� ������
�� ��$��� �� ������
�� ����
 ��$��� !

-�
� ��������
 ��� �����	� �	�������
�� ��� ����
	��� ��
 �
 �&��


f(x) = ax + b = Tb(x)


��� a ��� b ����� ����	����� ���$��� ! "��
 �
	����� 
�� 
�
 
 ����	����� ��$���
���������� 	����� ��
 �
� ��&�� �� |a| > 1 � ����������� ��� ����� �� |a| < 1 ���
a < 0 ��������,���� 180◦ ���� ��
 �� 0� ��� 	��� 	���,������ ���� 	�� ���
�
��
b ���� �� �������� �� b < 0 ��� ��� �� ��#��� �� b > 0�!

-�
� ��������
 )�� �����	� �	�������
�� ��� ����
	��� ��
 �
 �&��


w(x1, x2) = (ax1 + bx2 + e, cx1 + dx2 + f) =
[

a b
c d

] [
x1

x2

]
+

[
e
f

]
= Ax + t = Tt(Ax),


��� a, b, c, d, e ��� f ����� ����	������ ���$	��!
-�
� ��������
 ��� �����	� �	�������
�� ��� ����
	��� ��
 �
 �&��


w(x1, x2, x3) = (ax1 + bx2 + cx3 + n, dx1 + ex2 + fx3 + q, gx1 + hx2 + mx3 + r)

=

⎡
⎣ a b c

d e f
g h m

⎤
⎦

⎡
⎣ x1

x2

x3

⎤
⎦ +

⎡
⎣ n

q
r

⎤
⎦


��� a, b, c, d, e, f, g, h,m, n, q, r ����� ����	������ ���$	��!

H������  ������	��� *�� �!5� 	�	 ��!����	� �������������*� �
��� (��*��6
�	 ���� ����.	�!� ��� ��*� (������	� �������������	�7 ���� #��� 	�	 ��!���6
�	� �������������*� S: Rn → R

n �
��� #��� �������������*� ��� �	�.�� S(x) =
T (x) + b7 * 	� 	 T �
��� #��� (������*� �������������*� �	� R

n ��� b ∈ R
n�

������� �7�7- ���� 	����&
	����	
 f : C → C �
 	��,� f(x) = a0 +a1x+
· · ·+aNxN 
��� �� ���������� ai (i = 0, 1, . . . , N) ����� 	�������� ���$	��� aN �= 0
��� N ����� ��� 	
 ���
���
 ������� � ��������  	��)�����*� �������������*�!
%� N �������� ��5�*� ��� 	����&
	����	��!

<  ��(������ ��5�
� � 	��
 �� � ����5�
 �� #��� ���	 	 	 	
	� �	 	�	(����
�
��� #��� ����	� 	 	 	
	�  �������!��� �	 ����
	 �	� � �
�	�� 1�
9	��� ���*� �	�
���	 �� �
��� 	 R = R ∪ {∞} ��� ����5)� �	� �
�	��� �� �.������ ��������



�

�

�

�

�

�

�

�

�. � ����� ��� ����������

������� �7�71 ���� 	����&
	����	
 f : R → R �
 	��,� 

f(x) =
ax + b

cx + d
,

a, b, c, d ∈ R 	�

det

[
a b
c d

]
�= 0 ⇔ ad − bc �= 0 ⇔ ad �= bc

�������� (������*� ���������*� �������������*� � �������������*� Möbius! "�
c �= 0� �
�� f(−d/c) = ∞ ��� f(∞) = a/c! "� c = 0� �
�� f(∞) = ∞.

������� �7�7	 ��� �����
���
 f :X → Y � 
��� (X, ρ) ��� (Y, σ) ����� 	�������
&���� �������� 	�	�*����� �� σ(f(x), f(y)) = rρ(x, y) ��� ��$� x, y ∈ X ��� ������
���$��
 r ∈ R+! "� r = 1� �
�� 
 f �������� ��	����
�!

� * ��� 3�*���� ����
  �	�� ��� *�� ��� ��	����
� �
��� 	�	�	�*�.)� �������
���!������ ,��� � 	�	��� �� ����
�	��� �#�) ��*� 	�	�	�	�.���	� �	� ������*
���	 (X, ρ) �, #�� � 	���	�	 �	� Y �	 	 	
	 #��� �� ������� ��������

���� ������  ��
 �)�� ��*� �������������	� w: R2 → R
2 	�	�*���� �
��� #���

	�	 ��!����	� �������������*�  	� #��� ��� � * ��� �����#� �	�.#�

�0

w

[
x1

x2

]
=

[
r���5 −r��5
r��5 r���5

] [
x1

x2

]
+

[
e
f

]

�0

w

[
x1

x2

]
=

[
r���5 r��5
r��5 −r���5

] [
x1

x2

]
+

[
e
f

]

(�� �! 	�� ����.	�! (e, f) ∈ R
27 �! 	�	�  ��(�����* ���5�* r �= 0 ��� �! 	��

()�
� θ7 0 ≤ θ < 2π� < θ ����
��� ����� ��������,� 7 ��� �	 r ����
��� �������
���	��� � ���	����
� �� 5#�	��� (e, f) = (0, 0) ���� �0 #�	��� �	� (������*
�������������*

Rθ

[
x1

x2

]
=

[
r���5 −r��5
r��5 r���5

] [
x1

x2

]
	 	 	
	� �
��� ��� ��������,�� �� 5#�	��� r = 17 θ = 0 ��� (e, f) = (0, 0) ���� �0
#�	��� �	� (������* �������������*

R

[
x1

x2

]
=

[
1 0
0 −1

] [
x1

x2

]

	 	 	
	� �
��� ��� �������
 � ���������	
 �
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�7� '��
��9�
�����, �� �������;� ������ ��

������� �7�7. ���� 	����&
	����	
 f : C → C ����
	��� ��
 �
�

f(z) =
az + b

cz + d
,


��� a, b, c ��� d ∈ C� ad − bc �= 0 �������� �������������*� Möbius ��� C! "�
c �= 0� �
�� f(−d/c) = ∞ ��� f(∞) = a/c! "� c = 0� �
�� f(∞) = ∞.

������� �7�7� ����� 
�� (C, ρ) ��	)������ �� 	������
 ������� 	� �
� ����������
	������! ���� 	����&
	����	
 f : C → C �������� ��������*�� �� ��� ��$� z0 ∈ C

����&�� 	�� �	��
�
�� �
 	��,� w(z) = az+b� ��� ������ ����� ���$	�� a, b ∈ C

������� ����

lim
z→z0

ρ(f(z), w(z))
ρ(z, z0)

= 0.

3� ���$	�� a, b �#�������� ��
 �� z0! "�� ���� ��������&�� ��� ��� ����	��� �
	���
z0 = c� �&��	� a = 0� �
�� �� c �������� ��
���	 ����
	 ��� 	����&
	����	�� ��� 

f(c) �������� ��
���� ����!

������� �7�7�6 ����� f : C → C ��� ��������
 	����&
	����	
 ������ �
���� f(C) = C! %
�� � � 
 ���*�	� ���
���	.	� ��� f ����� 
 �����
���

f−1: H(C) → H(C) ����
	��
 ��
 �
� f−1(A) = {w ∈ C : f(w) ∈ A} ��� ��+
$� A ∈ H(C)!

������� �7�7�� ����� f :X → X 	�� ������
�
 �� ���� 	�����
 &���! ����
�
	��� x0 ∈ X ������� ���� f(x0) = x0 �������� ���5��* ����
	 �
 ������
�
 !

�
�:�����


$� < � ���*���� T �	� 3�����
(���	� ����� ��� #��� ���5��* ����
	� �

8���9�
 �7�7� <$�
=���; �9��,�� ��� Banach> ����� T 	�� �������
��
 ���� ����
 	�����
 &��� X ���
 ��� ������ ���! %
�� ����&�� ��� 	������

x0 ���� X �� ����� ���������� �� 

(i) Tx0 = x0 ���

(ii) lim
n→∞T ◦nx = x0 � ��� ��$� x ∈ X. �

3���
 �7�7� ����� w:X → X 	�� ����&� �����
���
 ���� 	�����
 &��� (X, ρ)!
%
�� 
 w ����������� ��� H(X) ���� ����
 ���!
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�6 � ����� ��� ����������

"�
���#
! ,-��) S ∈ H(X)� 3�	.���� w(S) �= ∅7 	 *�� ����
 �� ��
"	��� *��
�
��� ��� ��� �(#� � ��	���!�)� *�� �
��� ��	�	�5����� ��� �(#��

,-��) ��� ��	�	�5
� ����
)� yn ∈ w(S)� ,��� � !���� ��� ��	�	�5
� ����
)�
xn ∈ S �#�	��7 ���� yn = w(xn)� �.	� �	 S �
��� ��� �(#�7 !�� ��� ��	�	�5�����
��� �(#�7 � !���� ��� � ��	�	�5
� (xNn) � 	 	
� ��(��
���  �	� #�� ����
	 x̂ ∈ S�
'*�� xNn → x̂ ⇒ w(xNn) → w(x̂)7 ��*�� � w �
��� �������7 	 *�� � yNn = w(xNn)
�
��� ��� � ��	�	�5
� ��� (yn) � 	 	
� ��(��
���  �	� #�� ŷ ∈ w(S)� �

������� �7�7�� ���� �����)����
� � ���������*���	 ������� ���������)� ��--�
����������� ��
 ���� ����
 	�����
 &��� (X, ρ) 	��� 	� ��� �������	��� ������
������������ ������� wn:X → X� 	� ��������&�� ��������� ���������
�
�� 
sn� ��� n = 1, 2, . . . , N ! %���� ��	)�������� 	� {X;wn, n = 1, 2, . . . , N} ��� �
������� ���������
�
�� ��� ����� s = max{sn : n = 1, 2, . . . , N}!

8���9�
 �7�7� ����� {X;wn, n = 1, 2, . . . , N} ��� ����)����
 �-- 	� ����+
����� ���������
�
�� s! %
�� � 	����&
	����	
 

W : H(X) → H(X) 	� W (B) =
N⋃

n=1

wn(B)

��� ��$� B ∈ H(X)� ����� 	�� �����
���
 ������� ��� ��� ������ 	������� &����
(H(X), h(ρ)) 	� ��������� ��������
�
�� s! %� 	������
 ���$��
 �
	��� �
 �
A ∈ H(X)� ���������� �
�

A = W (A) =
N⋃

n=1

wn(A)

��� ������� ��
 �
�
A = lim

n→∞W ◦n(B)

��� ��$� B ∈ H(X). �

������� �7�7�� %� 	������
 ���$��
 �
	��� A ∈ H(X) ��� �������,
�� ���
.���
	� 0!4!4 �������� � �������� ��� �--!


+
����� �
1 ��(*��5�	� 	 	 	
	�  ��	���!9���� ��� ���#���� 	�	�!9���� "����������
 

"��
��$	� ��� ���
9���� ���� ��#� �	� !���	� � 	�	(���	� ���� ��	�	�5
�� ���*6
�)� {An = W ◦n(A)} "��������� � * #�� ��� �(#� �����* ���	�	 A0� H�� ���	�
�
 ���	��9*����� ��	 � ���	���* -�� ��� �	�.��

{R2;wn, n = 1, 2, . . . , N}
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* 	� �!5� � ���*���� �
��� #��� 	�	 ��!����	� �������������*��
- ��#"�� #�� ��� �(#� ���	�	 A0 ⊂ R

2� '*�� � 	�	(
��� � ��������#�)� ��
An = W ◦n(A0) ���.)�� �� �� ��#��

An+1 =
N⋃

j=1

wj(An)

(�� n = 1, 2, . . . . ,-��� ��������!���� ��� ��	�	�5
�

{An : n = 0, 1, 2, . . .} ⊂ H(X).

'*�� � * �	 ?������ ����� � ��	�	�5
� (An) ��(��
���  �	� �	� ������� �	� -��
� * �� ������� Hausdorff�

,1��� �!�	��� ����� ��� ��5*�	�7  �
��	��� �!5� ����
	 ��� 	5*��� ��� ��� �6
.���*9	��� �, ���* ��5, #��� � * �	�� 	�	 ��!����	�� �������������	�� 	 	 	
	�
.��!���� �	 -�� (�� ��� ��(������#�� ���*��� '*��7 �����!9	���� �� ����	��(�� ��6
��
� ��� ���! �.���*9���� "��! � 
��� ����(��
� �*��� .	�#� *��� ����!9	����7 ����
�� #�	��� #�� �����* � 	�#������ ��� G�I ��� G��I � !��	�� 	� ������� )����#�)�
-��� � , ���	�� "��)�
���� �	� ������ (�� �	 ��
()�	 Sierpiński ��� �.���*����

A0 W A( )0 W A
2
( )0 W A

3
( )0

W A
4
( )0 W A

5
( )0 W A

6
( )0 W A

7
( )0

����� ���8 '	 ��
()�	 Sierpiński ���������� � * ��
()�	�

�	�  �	���.��5#��� ��(*��5�	 (�� ���.	�����! �����! ��� �(� ���	�� A07 * )�
��
()�	7 ����!()�	 ��� ����	 /��� ������� ���7 ���7 ��
0�

program Deterministic_Algorithm;
uses
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A0 W A( )0 W A
2
( )0 W A

3
( )0

W A
4
( )0 W A

5
( )0 W A

6
( )0 W A

7
( )0

����� ���8 '	 ��
()�	 Sierpiński ���������� � * ����!()�	�

Crt,Graph;
const

max_x = 100;
max_y = 100;
CharSize = 8;
Color = White;
trn_x = 150;
trn_y = 170;
set_end = 3;

type
matrix = array[1..max_x,1..max_y] of boolean;
trans = array[1..set_end] of real;

var
new,old : matrix;
a,b,c,d,e,f : trans;
Gd,Gm,iter,start_x,start_y,xoffset : integer;
choice : char;
Wstring : string[7];
i,j,n : word;

procedure initialize(var new,old : matrix;choice : char);
var
i,j : integer;
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A0 W A( )0 W A
2
( )0 W A

3
( )0

W A
4
( )0 W A

5
( )0 W A

6
( )0 W A

7
( )0

����� ��
8 '	 ��
()�	 Sierpiński ���������� � * ����	�

angle : real;
begin

for i:=1 to max_x do
for j:=1 to max_y do
begin

old[i,j]:=false;
new[i,j]:=false

end;
case choice of
’1’ : begin

for i:=1 to max_x do
begin

old[1,i]:=true;
PutPixel(1+start_x,i+start_y,Color);
old[i,max_y]:=true;
PutPixel(i+start_x,max_y+start_y,Color);
old[max_x-i+1,max_y-i+1]:=true;
PutPixel(max_x-i+start_x+1,max_y-i+start_y+1,Color)

end
end;

’2’ : begin
for i:=1 to max_x do
begin
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old[1,i]:=true;
PutPixel(1+start_x,i+start_y,Color);
old[max_x,i]:=true;
PutPixel(max_x+start_x,i+start_y,Color);
if not old[i,1] then
begin

old[i,1]:=true;
PutPixel(i+start_x,1+start_y,Color)

end;
old[i,max_y]:=true;
PutPixel(i+start_x,max_y+start_y,Color)

end
end;

’3’ : begin
angle:=0;
for i:=1 to 1000 do
begin

old[round(50*cos(angle)),round(50*sin(angle))]:=true;
PutPixel(round(50*cos(angle))+start_x+50,

round(50*sin(angle))+start_y+50,Color);
angle:=angle+2*(pi/1000)

end
end

end
end;

begin
repeat

ClrScr;
gotoxy(10,10);write(’1 Sierpinski triangle from triangle’);
gotoxy(10,11);write(’2 Sierpinski triangle from square’);
gotoxy(10,12);write(’3 Sierpinski triangle from circle’);
gotoxy(10,13);write(’4 Exit’);
gotoxy(10,15);write(’Enter choice:’);
repeat
gotoxy(23,15);
clreol;
choice:=readkey

until choice in [’1’,’2’,’3’,’4’];
start_x:=50;
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start_y:=30;
a[1]:=0.5; b[1]:=0; c[1]:=0; d[1]:=0.5; e[1]:=1; f[1]:=1;
a[2]:=0.5; b[2]:=0; c[2]:=0; d[2]:=0.5; e[2]:=1; f[2]:=50;
a[3]:=0.5; b[3]:=0; c[3]:=0; d[3]:=0.5; e[3]:=50; f[3]:=50;
if choice<>’4’ then
begin
Gd:=Detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then

Halt(1);
ClearDevice;
initialize(new,old,choice);
Wstring:=’A0’;
xoffset:=round((max_x-length(Wstring)*CharSize)/2);
OutTextXY(start_x+xoffset,start_y+14*CharSize,Wstring);
for n:=0 to 6 do
begin

start_x:=start_x+trn_x;
if n=3 then
begin

start_x:=50;
start_y:=start_y+trn_y

end;
for i:=1 to max_x do
for j:=1 to max_y do

if old[i,j] then
for iter:=1 to set_end do

new[round(a[iter]*i+b[iter]*j+e[iter]),
round(c[iter]*i+d[iter]*j+f[iter])]:=true;

for i:=1 to max_x do
for j:=1 to max_y do
begin

old[i,j]:=new[i,j];
new[i,j]:=false;
if old[i,j] then
PutPixel(i+start_x,j+start_y,Color)

end;
Str(n+1,Wstring);
Wstring:=’w^’+ Wstring + ’(A0)’;
xoffset:=round((max_x-length(Wstring)*CharSize)/2);
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OutTextXY(start_x+xoffset,start_y+14*CharSize,Wstring)
end;
readln;
CloseGraph

end;
until choice=’4’

end.

�� ���* �	 ����
	7  �# �� �� ��������	 	���	��� #�� ��������*  �*����� �	�
����	������	� ��(	�
5�	��

3�# �� �� #�	��� ������ ���5#���� ������ �*�	 	 ��5	����*� *�)� �)� ��6
��
)� ���� ��#�	��� 	5*�� ���7 � ����
 ���; 5#��)� ������ ��� #�� 
�	  ��5	�
5#��)� � ���	����� (�� � 	5������ �)� �����������9*���)� ����
)� ��5�� ���!
 ��!(	�����

H�, ���*� �	� �*(	7 �	 ����	������*  �*(����� ��	 G�I  ���	�
9�� �� �������6
9*���� ���*�� �� #�� ����* �#(�5	� 100 × 100 ���	�	��	���
)�� 1 Stevens *�)�
��	 G��I "�.��(�� � * ���* �	  �*����� �!�	���� ����� �)� ��	 	5	���  	� �
���
���5#����� (�� (��.��! �� ��� �!��� EGA (VGA)7 *��� ���� #��� (��!�� ���6
 ���)������ ������ ���* �#���� �!��� �	  �*(����� �
(	  �	 ��(*7 ���! �����!
 ������*� 3�# �� �� �
����� *�)�  �	������	
 ���! �� ����� ����� ��� �����6
��� ���� �� ��5	�
9	���7  	�! � * ��� ��	 ���
��� (��.���� ������	 	�	��� (��
��!.	��� ����	��(
���

'	 ��*�	�5	 �
��� #��  �*(�����  �	�  ���()(� ���*�)� ������	 	������
�	� ����	������* ��(*��5�	 ��� ��� �������  	� ���.#�5���  �	�(	��#�)� /���
������� ���7 ���0�

program ifsdet;
uses
Crt,Graph;

const
a : array[0..3] of real = (0.5,0.5,0.5,0);
b : array[0..3] of real = (0,0,0,0);
c : array[0..3] of real = (0,0,0,0);
d : array[0..3] of real = (0.5,0.5,0.5,0);
e : array[0..3] of real = (75,0,150,0);
f : array[0..3] of real = (0,150,150,0);
dis_page : integer = 1;
back_page : integer = 0;
iterations : integer = 8;
start_col : integer = 0;
set_end : integer = 3;
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����� ���8 '	 ��
()�	 Sierpiński�

var
GraphDriver,GraphMode,i,j,k,m,iter,
color,displays,temp,index : integer;
Xpoints,Ypoints : array[0..24] of real;
initiator_x1,initiator_x2,initiator_y1,initiator_y2 : array[0..9] of real;
ch1 : char;

begin
GraphDriver:=4;
GraphMode:=EGAHi;
InitGraph(graphDriver,GraphMode,’c:\tp\bgi’);
for displays:=0 to 1 do
begin

SetVisualPage(0);
SetActivePage(0);
ClearDevice;
for i:=2 to 297 do
begin

PutPixel(i+100,0,15);
PutPixel(i+100,299,15);
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PutPixel(399,i,15);
PutPixel(100,i,15)

end;
for index:=0 to iterations do
begin

SetActivePage(dis_page);
SetVisualPage(dis_page);
ClearDevice;
for i:=start_col to 300 do
for j:=0 to 300 do
begin

SetActivePage(back_page);
color:=getPixel(i+100,j);
if color<>0 then
begin

iter:=0;
while iter<set_end do
begin

k:=Round(a[iter]*i+b[iter]*j+e[iter]);
m:=Round(c[iter]*i+d[iter]*j+f[iter]);
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iter:=iter+1;
if (k<540) and (m<350) and (k>=-100) and (m>=0)
then begin

SetActivePage(dis_page);
PutPixel(k+100,m,15)

end
end

end
end;
temp:=dis_page;
dis_page:=back_page;
back_page:=temp

end;
a[0]:=0; a[1]:=0.85; a[2]:=0.2; a[3]:=-0.15;
b[0]:=0; b[1]:=0.04; b[2]:=-0.26; b[3]:=0.28;
c[0]:=0; c[1]:=-0.04; c[2]:=0.23; c[3]:=0.26;
d[0]:=0.16; d[1]:=0.85; d[2]:=0.22; d[3]:=0.24;
e[0]:=0; e[1]:=0; e[2]:=0; e[3]:=0;
f[0]:=0; f[1]:=40; f[2]:=40; f[3]:=10;
dis_page:=1;
back_page:=0;
start_col:=-100;
iterations:=32;
set_end:=4;
ch1:=ReadKey

end
end.

������� �7�7�� �������� (X, ρ) ��� 	�����
 &��� ��� C ∈ H(X)! 3�����
��� 	����&
	����	
 w0: H(X) → H(X) 	� w0(B) = C ��� ��$� B ∈ H(X)! %
��
� w0 �������� �������������*� ��� ���)��� ��� �� C ����� �� ��������&� ���	�	
��� ���)���!

������� �7�7�- �������� {X;w1, w2, . . . , wN} ��� ����)����
 �-- 	� ����+
����� ���������
�
�� 0 ≤ s < 1 ��� w0: H(X) → H(X) ��� 	����&
	����	
 
��	������
 ! %
�� ��

{X;w0, w1, . . . , wN}
�������� � ���	���* -�� �� ��� ���)��� 	� ��������� ���������
�
�� s!


+
����� � <)?���
>
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1� ��*�	�5��  �����������  �	#��	���� � * ��� � *5���7 *�� �	 t → ∞ ���
*�� ���#(���� ()�
� w �= 0 /H�� w = 0 �	 �#���	 ��.��
9���� �� ��� ��5�
�0�
%!��� ���	�
�� ���#(	��� s = 1� �����!��	��� �	�  ��!(	��� ��
������� f ���
�����.��*����� �� � �����	��� ���� ��)������8

�0 3	�* �	 ���	���* ���	� G *�)� �)�  ����������D

�0 � 	��
 �	 �#���	 ��  ���	�����
 �� ���  � �����#�� � �.!����D

'	  ��5	� �)� ��!�)� ��� nK�	��� ��!5�� �����!�)��� �
����� � * �� (�)�������
��	�	�5
� �� nK�	��* *�	 an = 2n� '	 ���	���*  ��5	� At *�)� �)�  ����������
�
����� � * �� (�)������� ����!

At =
t∑

n=1

2n.

'	 ���	� sn ��*� �*�	 ��!�	� ���! �� nK�	��� �����!�)�� �
��� sn = fn−1�
�0 ���	���* ���	�8 �	 ���	���* ���	� G *�)� �)�  ���������� �	� �#���	� �
���

G = lim
t→∞Gt =

∞∑
t=1

2tf t.

3�*������ (�� ��� (�)������� ����! �� �*(	 q = 2f � '	 ���	���* ���	� �	� �#�6
��	� �
���  � �����#�	 (�� q < 17 ������ *��� 	  ��!(	���� ��
������� f �
���
����*���	� � * 1/2� �� f > 1/2 �*�� �	 ���	���* ���	� �
��� ! ���	� H�� f = 1/27
�*�� �	 !5�	���� *�)� �)� ����� �)� ��!�)� �
��� 
��	 �� �!5� ��!5�� �����!�)6
����
�0 3���	����*� �	� ������	�8 � #����� ��*� �������	� ������	� � 	��
 �� ����6
��5�
 �!��� ��� � *������7 ��� 	 	
� #�	�� 	� !���� �	� �#���	� � * �	  ���	
� 
 ��	 �����!�)���� '� ���� ��*� ��*�	� ��� �#�	� ��*� �#���	� �#��� ��� �	6
��.� �
���

l = lim
t→∞ lt =

∞∑
t=1

st =
∞∑

t=1

f t.

H�� f > 17 �	 l "� ���! *�� �� .�!(����7 	 *�� �	 ����� ��� � 	��
 ��  ���	�����
�
H�� f < 1 	 ��*�	� �
���  � �����#�	�� ;��  !�� � !���� ��� (�)������� ����! ��
q = f � '*��7 (�� �	 ���	���* ���	� ��*� ��*�	� ������

l =
∞∑

t=1

f t =
1

1 − f
(0 ≤ f < 1).

,-��� ����	� �� �#���	 �	  ���	 ����
	 �����!�)��� ��� ���
��� r(f) = 1/(1−
f)  ������
�� �	 �#���	� � * ���  �	�� ��� (�� 0.5 < f < 1 � ���!�����7 * 	�
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#�� ������
���	 �� ! ���	 ���	�  ������ � 	��
 ��  ������
���� �� ���  � �����#��
� �.!�����

< ���
�� � 	��
 �� ������5�
 �� ���
����8 � ��(������� �����
���� � *�����
���� ��������� �	��.�� � * �	  ���	 ����
	 �����!�)��� ��
������7 �!� 	���	���
����.*���	� ��� �������! ��� ��"�! ������������� �� #�� !���	  ��5	� �������!�)�
� � *�����  �	�� ��� )� ��	�	�5)�8 � � *����� A2nA2(n+1) �
��� � ��(�������
 ����! �� #�� ��
()�	 �� ����  ������ f2n ��� f2n+1 ���  �����*����� ()�
��
180◦ − w7 � 	 	
� � 	��
 �� � 	�	(��5�
 � * �	� �*�	 �)� �������*�)��

3�����*�����  ���	.	�
�� (�� �� �#���� � 	��
 	 �����.��*���	� ���(������
�� ���
 ��� G$I7 G+I ��� G��I� -��
� 5� ������	��� ����  ��������� *�� � ��������
�
BAUM STAMM � 	 	
�  ���#����� ��	 � *���	  �*(�����7 �
��� �	  ��!()(	
��*� -�� �� ��� ���)�� /��� ������� ��$7 ��+7 ��&0�

����� ��$8 �	�.	���������! �#�����

program Fractal_Trees;
uses
Crt,Graph,UtilUnit;

const
CharSize = 8;

var
Gd,Gm,t,wl,wr,w : integer;
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����� ��+8 �	�.	���������! �#���� /���#����0�

fl,fr,s,f : real;
OutStr : string[25];
ch : char;

procedure BAUM_STAMM(s : real;t : integer);
begin

if t=0
then exit
else begin

forwd(round(s));
turn(-45);
BAUM_STAMM(s/2,t-1);
turn(90);
BAUM_STAMM(s/2,t-1);
turn(-45);
back(round(s))

end
end;

procedure BAUM_STAMM_FLEX(s : real;t,wl,wr : integer;fl,fr : real);
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begin
if t=0
then exit
else begin

forwd(round(s));
turn(-wl);
BAUM_STAMM_FLEX(s*fl,t-1,wl,wr,fl,fr);
turn(wl+wr);
BAUM_STAMM_FLEX(s*fr,t-1,wl,wr,fl,fr);
turn(-wr);
back(round(s))

end
end;

procedure B_ASY(s : real;t,w : integer;f : real);
begin

if t=0
then exit
else begin

turn(-w);
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forwd(round(s));
B_ASY(s*f,t-1,w,f);
back(round(s));
turn(2*w);
forwd(round(s));
turn(w);
forwd(round(s));
B_ASY(s*f,t-1,w,f);
back(round(s));
turn(-(2*w));
forwd(round(s));
turn(-w);
forwd(round(s));
B_ASY(s*f,t-1,w,f);
back(round(s));
turn(2*w);
forwd(round(s));
B_ASY(s*f,t-1,w,f);
back(round(s));
turn(-w);
back(round(s));
turn(w);
back(round(s));
turn(-w)

end
end;

procedure L_BAUM(s : real;t,w : integer;f : real);forward;

procedure R_BAUM(s : real;t,w : integer;f : real);
begin

if t=0
then exit
else begin

turn(w);
forwd(round(s));
L_BAUM(s,t-1,w,f);
back(round(s));
turn(-(2*w));
forwd(round(s*f));
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R_BAUM(s*f,t-1,w,f);
back(round(f*s));
turn(w);

end
end;

procedure L_BAUM;
begin

if t=0
then exit
else begin

turn(-w);
forwd(round(s));
R_BAUM(s*f,t-1,w,f);
back(round(s));
turn(2*w);
forwd(round(s*f));
L_BAUM(s*f,t-1,w,f);
back(round(f*s));
turn(-w)

end
end;
begin {main}

GrafMode;
OutStr:=’Fractal Trees’;
OutTextXY(round((MaxCol-length(OutStr)*CharSize)/2),0,OutStr);
OutStr:=’Press any key to continue’;
OutTextXY(round((MaxCol-length(OutStr)*CharSize)/2),17,OutStr);
hd:=90;
xco:=80;
yco:=80;
GeheZuBildPunkt(xco,yco);
s:=100;
t:=7;
BAUM_STAMM(s,t);
xco:=230;
GeheZuBildPunkt(xco,yco);
s:=65;
t:=7;
wl:=20; wr:=20;
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fl:=0.75; fr:=0.5;
BAUM_STAMM_FLEX(s,t,wl,wr,fl,fr);
xco:=430;
GeheZuBildPunkt(xco,yco);
s:=50;
wl:=45; wr:=0;
fl:=0.65; fr:=0.80;
BAUM_STAMM_FLEX(s,t,wl,wr,fl,fr);
wl:=-45;
BAUM_STAMM_FLEX(s,t,wl,wr,fl,fr);
xco:=570;
GeheZuBildPunkt(xco,yco);
s:=60;
t:=6;
wl:=30; wr:=-10;
fl:=0.5; fr:=0.75;
BAUM_STAMM_FLEX(s,t,wl,wr,fl,fr);
wl:=-8; wr:=-10;
BAUM_STAMM_FLEX(s,t,wl,wr,fl,fr);
ch:=readkey;
ClearDevice;
OutStr:=’Fractal Trees’;
OutTextXY(round((MaxCol-length(OutStr)*CharSize)/2),0,OutStr);
OutStr:=’Press any key to continue’;
OutTextXY(round((MaxCol-length(OutStr)*CharSize)/2),17,OutStr);
xco:=140;
GeheZuBildPunkt(xco,yco);
s:=30;
t:=4;
w:=30;
f:=0.6;
B_ASY(s,t,w,f);
xco:=350;
GeheZuBildPunkt(xco,yco);
w:=20;
B_ASY(s,t,w,f);
xco:=520;
yco:=150;
GeheZuBildPunkt(xco,yco);
s:=11;
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w:=60;
f:=1;
B_ASY(s,t,w,f);
ch:=readkey;
ClearDevice;
OutStr:=’Fractal Trees’;
OutTextXY(round((MaxCol-length(OutStr)*CharSize)/2),0,OutStr);
OutStr:=’Press <ENTER> to exit’;
OutTextXY(round((MaxCol-length(OutStr)*CharSize)/2),17,OutStr);
xco:=140;
yco:=80;
GeheZuBildPunkt(xco,yco);
s:=70;
t:=7;
w:=30;
f:=0.65;
L_BAUM(s,t,w,f);
xco:=450;
GeheZuBildPunkt(xco,yco);
w:=20;
L_BAUM(s,t,w,f);
ExitGrafic

end.

8���9�
 �7�7� <2� 8���9�
 
��9������:��@9�> �������� (X, ρ) �+
�� ����
 	�����
 &��� � L ∈ H(X) ��� ε ≥ 0! �����#�� ��� �-- �� �--
	� ��	������
� {X;wi : i = (0), 1, 2, . . . , N} 	� ��������� ���������
�
�� 
0 ≤ s < 1� ���� ����

h

⎛
⎜⎜⎝L,

N⋃
n=1

(n=0)

wn(L)

⎞
⎟⎟⎠ ≤ ε.

%
�� h(L,A) ≤ ε/(1 − s)� 
��� A ����� � ������� ��� �--! 6������	� �

h(L,A) ≤ (1 − s)−1h

⎛
⎜⎜⎝L,

N⋃
n=1

(n=0)

wn(L)

⎞
⎟⎟⎠

��� ��$� L ∈ H(X).
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"�
���#
!

h(L,A) = h(L, lim
n→∞W ◦n(L)) /� * ?������ �����0

= lim
n→∞h(L,W ◦n(L)) /h ������� )�  �	� ����� ���� (�� ��� L0

≤ lim
n→∞

n∑
m=1

h(W ◦ (m−1)(L),W ◦m(L))

≤ lim
n→∞

n∑
m=1

sm−1h(L,W (L))

≤ lim
n→∞

1 − sn

1 − s
h(L,W (L))

=
1

1 − s
h(L,W (L)). �

'	 ?������ ���* ��� �#�� *�� (�� �� ��	��� #�� -�� �	� 	 	
	� 	 �������� �
6
��� C�	��!  �	�E � C�	�!9�� * )�E #�� �	5#� ���	�	7  �# �� ����
� ��  �	� �5����
�� ���� #�� ���	�	 ���������������K� ���	�
��)� ����	��� �� #��� ���!����	
���	 ���*� �	� 	 	
	� ��
������ �	 �	5#� ���	�	 #��� ���� � #�)�� � �����	�6
 ��!��F� �)� ���*�)� �	� �	5#��	� ���*�	� �!�) � * �	�� �������������	�� ��
�
��� �	��!  �	� �	 �	5#� ���	�	� < (���	���*���� �����
��� ������	 	������ ��
������� Hausdorff�
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�� ����	���� ��������

,-��) *�� ΣN ����	�
9�� �	 ���	�	 *�)� �)� ������� ��	�	�5��� .������ ���56
��� ����"� 1 ��� N 7 ������7

ΣN = {(x) = (x1x2x3 . . .) : xi ∈ Z, 1 ≤ xi ≤ N (�� i = 1, 2, . . .}
= {σ : N → {1, 2, . . . , N}|σ(n) ∈ {1, 2, . . . , N} (�� �!5� n ∈ N}
=

∞∏
n=1

{1, 2, . . . , N}
= {1, 2, . . . , N}N.

'	 ΣN 	�	�!9���� &��� ��� ������� � ����$������ �� N ����	��7 * 	� N �
���
#��� 5����*� ��#���	��

��	� ���	 �)� �)�
�)� ΣN 	�
9	���

ρN (x, y) = ρN ((x1x2x3 . . .), (y1y2y3 . . .)) =
∞∑
i=1

|xi − yi|
(N + 1)i

.

;!5� 9��(	� ����
)� ��	 ΣN ��
������ �����! ��  � �����#�� � *�����7 ��*��

ρN (x, y) ≤ (N − 1)
∞∑
i=1

1
(N + 1)i

=
N − 1

N
,

	 *�� 	 ���	� �
��� .��(�#�	� ��� � ρN �
���  �!(���� ��� ���!����� � 	 	
� .#����
�	 ΣN × ΣN ���*� �	� R�

����
�9 �7�7� ' ρN ����� 	�� 	������ ������� ��� ΣN !
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"�
���#
! 3�	.���� ρN (x, y) ≥ 0 (�� �!5� x, y ∈ ΣN ��� ρN (x, y) = 0 �*�� ���
�*�	7 �� xi = yi (�� �!5� i� �.	� |xi−yi| = |yi−xi|7 # ���� *�� ρN (x, y) = ρN (y, x)�
'������7 �� x, y, z ∈ ΣN �*�� |xi − yi| ≤ |xi − zi| + |zi − yi| � * ��� 	 	
�
��� ���
�	��� *�� ρN (x, y) ≤ ρN (x, z) + ρN (z, y)� ���� �� 	 (ΣN , ρN ) �
��� #���
������*� ���	�� �

����
�9 �7�7� ����� x, y ∈ ΣN ��� ���$����	� 
�� xi = yi ��� i = 1, 2, . . . , n+
1! %
�� ρN (x, y) ≤ 1/(N + 1)n+1! "������
,� � �� ρN (x, y) < 1/(N + 1)n+1�
�
�� xi = yi ��� i ≤ n + 1!

"�
���#
! �� xi = yi (�� i ≤ n + 17 �*��

ρN (x, y) =
n+1∑
i=1

|xi − yi|
(N + 1)i

+
∞∑

i=n+2

|xi − yi|
(N + 1)i

=
∞∑

i=n+2

|xi − yi|
(N + 1)i

≤
∞∑

i=n+2

(N − 1)
(N + 1)i

≤ 1
(N + 1)n+1

.

� * ��� !��� ����!7 �� xj �= yj (�� �! 	�	 j ≤ n + 17 �*��  �# �� �� #�	���

ρN (x, y) ≥ 1
(N + 1)j

≥ 1
(N + 1)n+1

���� ��7 ��

ρN (x, y) <
1

(N + 1)n+1
,

�*�� xi = yi (�� i ≤ n + 1. �

������� �7�7� ���� 	����&
	����	
 T : ΣN → ΣN �� &��� ������� ��������
��
 �
�

T (x1x2x3x4 . . .) = x2x3x4x5 . . .

��� ������� �������� �����* ����!

����
�9 �7�7� 3 ������� 	����
���
 ����� ����&� !

"�
���#
! ρN (Tx, Ty) ≤ (N + 1)ρN (x, y),∀x, y ∈ ΣN . �

������� �7�7� ���� �������* ������� ����� ��� 	����&
	����	
 f :X → X
�� ���� 	�����
 &��� (X, ρ)! %���� ��	)�������� 	� {X; f}! ' #� �	�5�� ��	��!
��
 �
	���� x ∈ X ����� �� ������

O+(x) = {f◦n(x) : n ≥ 0, f◦ 0(x) = x}.
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���� -�

"� 
 f ����� ��������5�	
� 	�����	� �� ������	� ��
��
�
 �
� ��	��! ��� x� � 

O(x) = {f◦n(x) : n ∈ Z, f◦ 0(x) = x}
��� �
� * ��5�� ��	��! ��� x� � 

O−(x) = {f◦ (−n)(x) : n ≥ 0, f◦ 0(x) = x}.
�������� S ⊂ R

n ��� f :S → S 	�� ����&� �����
���
! ���� ������
����
 �&�	�
{f◦ k} �������� ���������* �������* �������!

,-��� ��	 *� ���7 �
��� �� (�)�
�	��� *��� ��� ��	��#� ���� � ���*�����7 ������
�����.��*����� (�� �� ��� ���.	�! ��� ��	�	�5
�� �)� � �����F�)� /� �)� ��	6
����0 {f◦ k(x)}∞k=1 (�� ���.	�����! �����! ����
� x ∈ S ��� ������#�)� (�� ��(!�	
k�

H��  ��!���(��7 �� f(x) = ���x7 � ��	�	�5
� f◦k(x) ��(��
���  �	� �	 0, 99985
��5�� k → ∞ (�� �!5� �����* x /��� #�����  ��! ��  ��!�� � ����� ����� �	  ��6
���	 AcosB ��*� � 	�	(���� ��# ��0� 1�	
)�7 �� �	  �	�(	����	  �
���� (
���  �6
������ �	  �����	 AexpB7 �	5�
��� ���� ������� ���*�	� x7 �
��� �� �� � 	�	(
9	���
��� ��	�	�5
� �)� ���5���

x, ex, eex
, . . . .

�� �
(� �*(�� � �������!�	��� ��� ��5����� ���!������ �� ���* �	  �
����
� �����.5�
 "��! ��� "��!7 (
����� .����* *�� 	���� 	�� � ��	(� �	� �����	� x
	��(�
 ������! (��(	�� �� #�� ������ � ����
����� � * �	� � 	�	(����8 ������7
����	���#� � �����F��� ��� exp(x) ��
�	��  �	� �	 ∞� 1� ��	��#� ��� 	� #� �	�5��
��	��#� �)� ����
)� � 	�	�� �� �
��� �����!  	�� �	�� ���	��7 ��*�� ��� (��
 	�� � �#� �� (������#� � ���	�
�����

������� �7�7� ����� f :X → X 	�� ������
�
 ���� 	�����
 &��� (X, ρ)! ����
A ⊂ X �������� �������� �
 f � ��� �� A ����� ������
 ������ ��� �	���)�
�� ��

�
� f ������� ���� limk→∞ ρ(f◦ k(x), A) = 0,∀x ∈ V 	� A ⊂ V � 
��� �� V �����
��� ������
 ��������� ��� X!

�
�
��,��
�


�� '	 {ΣN ;T}7 * 	� T 	 �������� �����* ����7 �
��� #�� �������* ��������
�

�� '	 {[0, 1]; f(x) = λx(1− x)} �
��� #�� �������* ������� (�� �!5� λ ∈ [0, 4]�
>#�� *�� #�	��� ��� 	�������	������ ���������� ��������� ������!�)�� �


� ,-��) *�� w(x) = Ax+ t �
��� #��� 	�	 ��!����	� �������������*� ��	 R
2�

'*�� {R2;w} �
��� #�� �������* �������� �
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�� 1�
���� T :C([0, 1]) → C([0, 1]) �� (Tf)(x) = 1
2f(1

2x) + 1
2f(1

2x + 1
2 )� '*��

{C([0, 1]);T} �
��� #�� �������* �������� �

�� ,-��) *�� w: C → C �
��� #��� �������������*� Möbius� '*�� {C;w} �
���
#�� �������* �������� �

$� '	 {[0, 1]; 2x (mod 1)} �
��� #�� �������* �������� -�� 2x (mod 1) =
2x− [2x]7 * 	� [2x] ����	�
9�� �	 ��#���	 �#�	� �	� 2x7 ������ �	� ��(���6
���	 ��#���	 ����*���	 � 
�	 �	� 2x� �

+� ,-�� � * �� � �	������ � 
 ��� �������! ��������� �� �	�.	���������*
������� �
��� 	 	����&
	����	
 ��� ���������7 	 	 	
	� 	�	�!9���� #���
� ���� �	�!9�� �� �� ����(��
� ��� � ���������*�����  �!��� ��*� �	�����	�
� * 9��!�� ��� ��� �
 �)��� �	� ��� ��	�

,-��) *�� E = [0, 1] × [0, 1] �
��� �	 �	�����
	 ����!()�	� H�� ���5��*
0 < λ < 1/2 	�
9	��� �	� �������������* �	� ���	 	�	� f :E → E ��

f(x, y) =
{

(2x, λy), �� 0 ≤ x ≤ 1/2
(2x − 1, λy + 1/2), �� 1/2 < x ≤ 1

/�0

���*� 	 �������������*� � 	��
 �� 5�)��5�
 *�� ����
��� �	 E �� #�� 	�6
5	(���	  ������ 2 × λ �*�	��!� �	 �� 	�5	(����  ������ 1 × λ ��� �	6
 	5������� �� �	 #�� �
 �� ��	 !��	 �.��	���� ����"� �	�� ���* 1/2 − λ
�	�!�)��


+
����� �
,-�� ��(������#�	  ��!���(�� ��*� �������������	� #������ ��� �
 �)���7 �
6

��� � � ���*���� Hénon f : R2 → R
2 ��

f(x, y) = (y + 1 − ax2, bx)

* 	� a ��� b �
��� ���5��#� /����5)� (�� ���#�� � ��#(	���� 	� ���#� a = 1.4 ���
b = 0.37 ��� ����� ���0�

program Henon_Attraktor;
uses
Crt,Graph;
const
maxcol = 640;
maxrow = 480;
var
i,j,n,nmax,Gd,Gm : integer;
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����� ���8 1 �������� Hénon�

a,b,fx,fy,xschirm,yschirm,xmin,xmax,ymin,ymax,x,y,xneu : extended;
begin

clrscr;
a:=1.4;
b:=0.3;
write(’Eingabe: xmin = ’);readln(xmin); {-1.5}
write(’ xmax = ’);readln(xmax); {1.5}
write(’ ymin = ’);readln(ymin); {-0.5}
write(’ ymax = ’);readln(ymax); {0.5}
x:=0;
y:=0;
write(’Eingabe: Anzahl der Iterationen nmax = ’);
readln(nmax); {40000}
fx:=maxcol/(xmax-xmin);
fy:=maxrow/(ymax-ymin);
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
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n:=0;
repeat

xschirm:=(x-xmin)*fx;
yschirm:=(y-ymin)*fy;
if (xschirm<maxcol+1) and (xschirm>-1) and

(yschirm<maxrow+1) and (yschirm>-1)
then PutPixel(round(xschirm),round(yschirm),3);

xneu:=y+1-a*x*x;
y:=b*x;
x:=xneu;
n:=n+1

until n>nmax;
readln;
CloseGraph

end.

3�	� ��� ��!����� !��)� �������� �� 	� Hénon ���.#�	��� ����������� ���

xn+1 = xn cos(w) − (yn − x2
n) sin(w)

yn+1 = xn sin(w) + (yn − x2
n) cos(w)

* 	� 0 ≤ w ≤ π7 ��� �	 ��*�	�5	  �*(����� ��	 	��
 ���  �	�(	������ ��#����
/��� ����� ���0�

program HenonAttraktoren;
uses
Crt,Graph,UtilUnit;

const
maxreal = 1.7E38;

var
xo,yo,dxo,dyo,cosA,sinA,xneu,
xalt,yalt,deltax,deltay,phasenwinkel : extended;
ok1,ok2 : boolean;
i,j,orbitzahl,punktezahl : integer;

begin
GrafMode;
phasenwinkel:=1.111;
xmin:=-1.2;
xmax:=1.2;
ymin:=-1.2;
ymax:=1.2;
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����� ���8 ,-��� �������� �� 	� Hénon�

xo:=0.098;
yo:=0.061;
dxo:=0.04;
dyo:=0.03;
orbitzahl:=40;
punktezahl:=700;
cosA:=cos(phasenwinkel);
sinA:=sin(phasenwinkel);
xalt:=xo;
yalt:=yo;
deltax:=maxcol/(xmax-xmin);
deltay:=maxrow/(ymax-ymin);
for j:=1 to orbitzahl do
begin

i:=1;
while i<=punktezahl do
begin

if (abs(xalt)<=maxreal) and (abs(yalt)<=maxreal) then
begin

xneu:=xalt*cosA-(yalt-xalt*xalt)*sinA;
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yalt:=xalt*sinA+(yalt-xalt*xalt)*cosA;
ok1:=(abs(xneu-xmin)<maxint/deltax);
ok2:=(abs(ymax-yalt)<maxint/deltay);
if ok1 and ok2 then

SetzeWeltPunkt(xneu,yalt);
xalt:=xneu;

end;
i:=i+1

end;
xalt:=xo+j*dxo;
yalt:=yo+j*dyo

end;
ExitGrafic

end.


+
����� � <� �������� Lorenz>
3#��� ��*���  ��� 	 Michael Hénon ���	��5�
 ��	 3��
�� �� �	��#��  �	�

 �	�	�	
)�� ��������� ������!�)� ��	� �	�#� ��� .������7 �� #�� !��	 �#�	�
���#�����  ��*�	�� ��(�������!  �!(�����

1 ��������*� Edward N. Lorenz #(��F� �	 ��$
 �� #��� ������� ���.	�����*
��!�	 ��� �"�	����
)�� � �����	���� #�5���� -��  �	� �5	��� �� ��� ��"�� #��
�	��#�	 (�� �	� ����*  ��������� �! 	���  ��!"���� ����.)�
�� ��� ��� ���.	�!
�	� �	��#�	� �	��

1 Lorenz  ���#(��F� ���� #�5��� �	� ��� 	��	(#���� ����� ����5)� ���.	�����
�"�����)� ��  ����#��	�� a, b, c8

dx/dt = a(y − x)
dy/dt = bx − y − xz
dz/dt = xy − cz.

;��! �	� ���5�����* � 	�	(���* �#�) ��*� � 	�	(���� ���#� 	� �"������� ��
��	��
!��)�  	�� �	��� ������� 1�  ��
 �	��� ���!.���� ��� �"�������� �)�  ����#��)�
� 	�	�� � ��#�	�� �� �"�(�5	�� ��  ���	�� �#�) (��.���� ��5*�)��

'	 ������� �)� �"�����)� �	� Lorenz �
��� 
�)� �	  �* (�)��*  ��!���(��
��*� �����	�� �������	� ��������	� �� fractal ��������

,-��� ��(*��5�	� 	 	 	
	� ��������!9�� ��� ����*�� �� ���	�� �	� �������
� !���� ��	 G+I ��� �	� 	 	
	  ���5#�	��� )� #��� /��� ����� ��
0�

program Lorenzattraktor;
uses
Crt,Graph,UtilUnit;
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����� ��
8 1 �������� Lorenz�

var
i : integer;
x,y,z,A,B,C : extended;

procedure f;
const
delta = 0.01;

var
dx,dy,dz : extended;

begin
dx:=A*(y-x);
dy:=x*(B-z)-y;
dz:=x*y-C*z;
x:=x+delta*dx;
y:=y+delta*dy;
z:=z+delta*dz

end;

begin
Xmin:=-30; Xmax:=30; Ymin:=-30; Ymax:=80;
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A:=10.0 {20}; B:=28 {20}; C:=8/3;
x:=1;
y:=1;
z:=1;
f;
GrafMode;
SetzeWeltPunkt(x,z);
repeat

f;
ZieheWeltLinie(x,z)

until keypressed;
ExitGrafic;

end.

��� #(��)�� ���	��  ��(���	 	��
��� �#�) �	� ��(*��5�	�  	� � !���� ��	
G��I ��� �	� 	 	
	  ���5#�	��� ��5�� ��#�)� /��� ����� ���0�
{

lorenz = PROGRAM TO PLOT LORENZ ATTRACTOR

}
program lorenz;
uses
Crt,Graph;

const
maxcol = 639;
maxrow = 349;
rad_per_degree = 0.0174533;
third = 0.333333333;

var
x,y,z,d0_x,d0_y,d0_z,d1_x,d1_y,d1_z,d2_x,d2_y,d2_z,
d3_x,d3_y,d3_z,xt,yt,zt,dt,dt2,x_angle,y_angle,z_angle,
sx,sy,sz,cx,cy,cz,temp_x,temp_y,old_y : real;
dummy,GraphDriver,GraphMode,i,j,row,color,col,old_row,old_col : integer;
ch : char;

function degrees_to_radians(degrees : real) : real;
begin

while degrees>=360 do
degrees:=degrees-360;

while degrees<0 do
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����� ���8 2�!.	���  �	�	�#� �	� ������� Lorenz�

degrees:=degrees+360;
degrees_to_radians:=rad_per_degree*degrees

end;

begin
color:=15;
x_angle:=45;
y_angle:=0;
z_angle:=90;
x_angle:=degrees_to_radians(x_angle);
sx:=sin(x_angle);
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cx:=cos(x_angle);
y_angle:=degrees_to_radians(y_angle);
sy:=sin(y_angle);
cy:=cos(y_angle);
z_angle:=degrees_to_radians(z_angle);
sz:=sin(z_angle);
cz:=cos(z_angle);
for j:=0 to 2 do
begin

color:=4;
GraphDriver:=4;
GraphMode:=EGAHi;
InitGraph(GraphDriver,GraphMode,’c:\tp\bgi’);
SetLineStyle(0,$FFFF,3);
SetColor(15);
x:=0;
y:=1;
z:=0;
if j=0 then
begin

old_col:=Round(y*9+320);
old_row:=Round(350-6.56*z);
Line(0,348,639,348);
Line(320,2,320,348);
OutTextXY(628,330,’Y’);
OutTextXY(330,12,’Z’)

end;
if j=1 then
begin

old_col:=Round(y*10+320);
old_row:=Round(175-7.29*x);
Line(0,175,639,175);
Line(320,2,320,348);
OutTextXY(628,160,’Y’);
OutTextXY(330,12,’X’)

end;
if j=2 then
begin

old_col:=Round(y*9);
old_row:=Round(350-6.56*z);
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Line(0,348,638,348);
Line(320,2,320,348);
Line(320,348,648,140);
OutTextXY(628,330,’Y’);
OutTextXY(330,12,’Z’);
OutTextXY(628,112,’X’)

end;
SetLineStyle(0,$FFFF,1);
dt:=0.01;
dt2:=dt/2;
for i:=0 to 8000 do
begin

d0_x:=10*(y-x)*dt2;
d0_y:=(-x*z+28*x-y)*dt2;
d0_z:=(x*y-8*z/3)*dt2;
xt:=x+d0_x;
yt:=y+d0_y;
zt:=z+d0_z;
d1_x:=(10*(yt-xt))*dt2;
d1_y:=(-xt*zt+28*xt-yt)*dt2;
d1_z:=(xt*yt-8*zt/3)*dt2;
xt:=x+d1_x;
yt:=y+d1_y;
zt:=z+d1_z;
d2_x:=(10*(yt-xt))*dt;
d2_y:=(-xt*zt+28*xt-yt)*dt;
d2_z:=(xt*yt-8*zt/3)*dt;
xt:=x+d2_x;
yt:=y+d2_y;
zt:=z+d2_z;
d3_x:=(10*(yt-xt))*dt2;
d3_y:=(-xt*zt+28*xt-yt)*dt2;
d3_z:=(xt*yt-8*zt/3)*dt2;
old_y:=y;
x:=x+(d0_x+d1_x+d1_x+d2_x+d3_x)*third;
y:=y+(d0_y+d1_y+d1_y+d2_y+d3_y)*third;
z:=z+(d0_z+d1_z+d1_z+d2_z+d3_z)*third;
if j=0 then
begin

col:=Round(y*9+320);
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row:=Round(350-6.56*z);
if col<320 then

if old_col>=320 then
inc(color);

if col>320 then
if old_col<=320 then
inc(color)

end;
if j=1 then
begin

col:=Round(y*10.0+320);
row:=Round(175-7.29*x);
if col<320 then

if old_col>=320 then
inc(color);

if col>320 then
if old_col<=320 then
inc(color)

end;
if j=2 then
begin

temp_x:=x*cx+y*cy+z*cz;
temp_y:=x*sx+y*sy+z*sz;
col:=Round(temp_x*8+320);
row:=Round(350-temp_y*5);
if col<320 then

if old_col>=320 then
inc(color);

if col>320 then
if old_col<=320 then
inc(color)

end;
SetColor(color);
Line(old_col,old_row,col,row);
old_row:=row;
old_col:=col

end;
ch:=ReadKey

end
end.
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1 �������� Lorenz  �	�)��
 ���! ������* ��* 	 � * �	 #�� ����
	 ��	 !��	
��5�� 	 ��*�	� ��"!��� #���7 ���� � 	�	��� �� �����!�	��� ��� ���� ���*�� ���	�
��������� (����#� 	� 	 	
�� ����#	�� �!5� 9��(	� (���	����� ����
)��

'��� �� 5�)���	��� #�� ���.	�����* �
�	�  ��!"��	� �������� ���*� ���
�
��� #�� �������* �������  	�  �)�	 ��	���!����� � * �	� Clifford A. Pickover�
� 	����
��� � * �	 ������� �)� �"�����)�8

xn+1 = sin(ayn) − zn cos(bxn)
yn+1 = zn sin(cxn) − cos(dyn)
zn+1 = e sin(xn).

'	 ��*�	�5	  �*(����� /��� G��I0 �����!9�� �	� �������  �	�!��	��!� �	�  ����
��	 XY ��� # ���� ��	 Y Z � 
 ��	 /��� ������� ���7 ��$0�

����� ���8 3�	�	�� ��	 � 
 ��	 �)� XY ��*�  ��!"��	� ��������

{

strange = PROGRAM TO PLOT STRANGE ATTRACTOR

}
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����� ��$8 3�	�	�� ��	 � 
 ��	 �)� Y Z ��*�  ��!"��	� ��������

program strange;
uses
Crt,Graph;

const
max_col = 639;
max_row = 349;

var
Xmax,Xmin,Ymax,Ymin,X,Y,Z,deltaX,deltaY,
Xtemp,Ytemp,Ztemp,a,b,c,d,e : real;
GraphDriver,GraphMode,col,row,j,color : integer;
max_iterations,i : longint;
ch : char;

begin
max_iterations:=50000;
Xmax:=2.8;
Xmin:=-2.8;
Ymax:=2.0;
Ymin:=-2.0;
a:=2.24;
b:=0.43;
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c:=-0.65;
d:=-2.43;
e:=1.0;
X:=0;
Y:=0;
GraphDriver:=4;
GraphMode:=EGAHi;
InitGraph(GraphDriver,GraphMode,’c:\tp\bgi’);
deltaX:=max_col/(Xmax-Xmin);
deltaY:=max_row/(Ymax-Ymin);
for j:=0 to 1 do
begin

for i:=0 to max_iterations do
begin

Xtemp:=sin(a*Y)-Z*cos(b*X);
Ytemp:=Z*sin(c*X)-cos(d*Y);
Z:=e*sin(X);
X:=Xtemp;
Y:=Ytemp;
if j=0
then begin

col:=Round((X-Xmin)*deltaX);
row:=Round((Y-Ymin)*deltaY)

end
else begin

col:=Round((Y-Xmin)*deltaX);
row:=Round((Z-Ymin)*deltaY)

end;
if col>0 then
if col<=max_col then

if row>0 then
if row<=max_row then
begin

color:=GetPixel(col,row);
if color=0 then
color:=8;

if color<15 then
color:=color+1;

PutPixel(col,row,color)
end
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end;
ch:=ReadKey;
ClearDevice

end
end.


+
����� �
,-��� !��	� � �*� ��������7 	 	 	
	� �*() �	� �.���#�� �	� 	�	�!�����

������� Rössler7 � 	��
 ��  ���(��.�
 � * ��� ��*�	�5�� �"�������8

dx/dt = −(y + z)
dy/dt = x + (y/5)
dz/dt = 1/5 + z(x − 5.7).

3���5#�	��� ��5�� ��#�)� �	 ���
��	��	  �*(����� /��� ����� ��+0�

����� ��+8 1 �������� Rössler�

program Roessler;
uses
Crt,Graph,UtilUnit;

var
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i : integer;
x,y,z,A,B,C : extended;

procedure f;
const
delta = 0.005;

var
dx,dy,dz : extended;

begin
dx:=-(y+z);
dy:=x+y*A;
dz:=B+z*(x-C);
x:=x+delta*dx;
y:=y+delta*dy;
z:=z+delta*dz

end;

begin
Xmin:=-15; Xmax:=15; Ymin:=-15; Ymax:=60;
A:=0.2; B:=0.2; C:=5.7;
x:=-10;
y:=-1;
z:=-1;
f;
GrafMode;
repeat
f;
i:=i+1

until i=1000;
SetzeWeltPunkt(x,y+z+z);
repeat
f;
ZieheWeltLinie(x,y+z+z)

until keypressed;
ExitGrafic;

end.


+
����� �

1� Martin (1982) ��� Dewdney /��&$0  ��	��
����  �����*����� �����!����7
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	� 	 	
��  ���(�(��  	���	�.� ��#���� ?�)�	��� ��� �"�������

xn+1 = yn − sgn(xn)
√|xn|

yn+1 = a − xn

* 	� 0 ≤ a ≤ 20 ��� #��� � ����5�
 )� ����
	 ���
����� �	 (x0, y0) = (0, 0)� <
���!����� sgn �
��� ��� ���� −17 *��� �	 xn �
��� �������*7 �� xn = 0 �
��� 4 ���
(�� 5����* xn ��� ���� +1 /��� ������� ��&/�07 /�07 /(07 /�00�

/�0 /�0

/(0 /�0

����� ��&8 -������� �)� Martin ��� Dewdney�

program martin_it;
uses
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Crt,Graph;
const
maxcol = 640;
maxrow = 480;

var
a,x,y,xnew,fx,fy,xmin,xmax,ymin,
ymax,xschirm,yschirm,n,nmax : extended;
i,Gd,Gm : integer;

function sgn(x : extended) : integer;
begin

if x<0
then sgn:=-1
else sgn:=1

end;

begin
ClrScr;
write(’Eingabe: (0<a<10) a=’);readln(a); {0.1 | 0.7 | 1.4 | 4}
write(’Eingabe: xmin=’);readln(xmin); {-1 | -3 | -4 | -7}
write(’ xmax=’);readln(xmax); { 1 | 3 | 4 | 7}
write(’ ymin=’);readln(ymin); {-1 | -3 | -4 | -7}
write(’ ymax=’);readln(ymax); { 1 | 3 | 4 | 7}
write(’Eingabe: Anzahl der Iterationen nmax=’);readln(nmax); {40000}
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
Halt(1);

fx:=maxcol/(xmax-xmin);
fy:=maxrow/(ymax-ymin);
x:=0;
y:=0;
n:=0;
repeat
xschirm:=(x-xmin)*fx;
yschirm:=(y-ymin)*fy;
PutPixel(round(xschirm),round(yschirm),3);
xnew:=y-sgn(x)*sqrt(abs(x));
y:=a-x;
x:=xnew;
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n:=n+1
until n>nmax;
readln;
CloseGraph

end.

� 	��
 ����
� �� �	���!��� ��� �	 ������� �)� �"�����)�

xn+1 = yn − sgn(xn)
√|bxn − c|

yn+1 = a − xn

�� a = 3.57 b = 1.2 ��� c = 0�

������� �7�7� ����� {X; f} ��� ����	��
 ����
	�! ����  ���	���* ����
	 �
 
f ����
��� n� ����� ��� �
	��� x ∈ X ������� ���� f◦n(x) = x ��� ������ n ∈
{1, 2, 3, . . .}! 3 ���&���� ������ ������� ������� ��!����� �  �)�
���  ��
	�	�
��� ���������� �
	���� x! -�	)������	� �� ������ ��� ���������� �
	���� �
 f
����
��� n 	� Pern(f)! ' ���&�� ��
 ���������� �
	���� �
 f ������� ����	�
�  ���	���� ��	��! �
 f ! ' ���&���
 ������� ��
 ������ ����� �� ���$� ���
���,�������� �
	���� ��� �����&��! ��� ������� ��
 ������ �
 f ����� 	��
������� ��
 �
	���� ���� �����!

�
�
��,��
�


&� ,-��) {X; f} #�� �������* �������� ,-�� ���5��* ����
	 ��� f �
��� #��
 ���	���* ����
	 ��� f  ���*�	� 1� �

�� ?�)�	��� �	 �������* ������� {R; f}� �� 5�)���	��� �	� �������������*
f : R → R �� f(x) = −x7 �*�� *�� �� ����
� ���*� �	� �����*� �
���  ���	���!
����
� ��� f  ���*�	� 2� �� 5�)���	��� �	� �������������* f : R → R ��
f(x) = x2 − 17 �*�� �� ����
� 0 ��� −1 ��
��	���� �� ���  ���	���� ��	��!
 ���*�	� �� �

�4� ,-��) S1 = {(x, y) ∈ R
2 : x2 + y2 = 1}7 ���� S1 ����	�
9�� �	� �	�����
	

����	 ��	 � 
 ��	� ����	�
9	��� #�� ����
	 ��	� S1 �� �� ()�
� �	� θ
������#�� �� ���
��� ���! �	� ����5���#�	 ��* 	� -� �	��	� #�� ����
	
��5	�
9���� � * 	���� 	�� ()�
� ��� �	�.�� θ + 2kπ (�� #��� ��#���	 k�
'��� #��) f(θ) = 2θ />!���� � , *F�� *�� f(θ + 2π) = f(θ) � 
 �	� ����	�7
#��� ���� � � ���*���� �
��� ����� )����#��0� '��� f◦n(θ) = 2nθ #���7 ����
� θ �
���  ���	����  ���*�	� n �*�� ��� �*�	7 �!� 2nθ = θ + 2kπ (�� �! 	�	�
��#���	 k7 ������7 �*�� ��� �*�	7 �!� θ = 2kπ/(2n − 1)7 * 	� 0 ≤ k ≤ 2n

�
��� #��� ��#���	�� -� �	��	� ��  ���	���! ����
�  ���*�	� n ��� f �
��� 	�
(2n − 1)K�� �
9�� ��� �	�!���� �
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�7� $��*����� ���
���� 	�

������� �7�7- ����� {X; f} ��� ����	��
 ����
	� ��� ���� xf ∈ X ��� ���+
$��
 �
	��� �
 f ! %� �
	��� xf ������� ��������* ���5��* ����
	 �
 f � ���
����&�� ��� ���$	
 ε > 0 ����� ���� 
 f �� ����������� �
� ������� �,����
K(xf , ε) ���� ����
 �
 ��� �������� 
 f �� ����� 	�� �����
���
 ������� ����
��
� ������� �,����! %� �
	��� xf ������� � )����* ���5��* ����
	 �
 f � ���
����&��� ���$	�� ε > 0 ��� c > 1 �������� ����

ρ(f(xf ), f(y)) ≥ cρ(xf , y) ��� ��$� y ∈ K(xf , ε).

���� ��������
 �
	��� �
 f ����
��� n ����� ��������*� ��� ����� ��� ��������

���$��
 �
	��� �
 f◦n! ���� ����� ����
��� n ����� ��� ��������*� ����	�
�
 f � �� � ����� �����&�� ��� ��������
 ��������
 �
	��� �
 f ����
��� n! ����
��������
 �
	��� �
 f ����
��� n ����� � )����*� �� ����� ��� �������
 ���$��

�
	��� �
 f◦n! ���� ����� ����
��� n ����� ��� � )����*� ����	� �
 f � �� �
����� �����&�� ��� �������
 ��������
 �
	��� �
 f ����
��� n!

�
�
��,��
�


��� '	 ����
	 xf = 0 �
��� #�� ��������* ���5��* ����
	 (�� �	 �������* ��6
����� {R; 1

2x} ��� #�� � )����* ���5��* ����
	 (�� �	 �������* �������
{R; 2x}� �

��� '	 ����
	 z = 0 �
��� #�� ��������* ���5��* ����
	 ��� �	 z = ∞ #�� � )6
����* ���5��* ����
	 (�� �	 �������* ������� {C; (���10◦ +i��10◦ )(0.9)z}�
�

������� �7�71 ����� {X; f} ��� ����	��
 ����
	�! ���� �
	��� x ∈ X �������
�������  ���	���* �
	��� �
 f � �� �� x ��� ����� ��������
 ���� ����&�� m > 0
������� ���� f◦ (n+i)(x) = f◦ i(x) ��� ��$� i ≥ m! ����� f◦ i(x) ����� ��������
 ���
i ≥ m!

�
�
��,��
�


�
� ,-��) f(x) = x2� '*�� �	 f(1) = 1 �
��� ���5��*7 ��� �	 f(−1) = 1 �
���
������� ���5��*� �

��� ,-��) f(θ) = 2θ � 
 �	� ����	�� >!���� � , *F�� *�� �	 f(0) = 0 �
���
���5��*� -!� θ = 2kπ/2n7 �*�� f◦n(θ) = 2kπ #���7 ���� � θ �
��� �������
���5���� �
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����� ���
���� �� ���������

������� �7�7	 ����� p ��� ��������
 �
	��� ����
��� n! ���� �
	��� x �����
#� �	�5�� ���� �)���* ��� �� p� �� limi→∞ f◦ in(x) = p! %� ���	�	 ����!5����
��� p� ��	)����
	��� 	� W s(p)� ����������� ��� 
�� �� �	����$�� ���	�������
��� �� p �
	���� �
����

W s(p) = {x ∈ X : f◦ in(x) → p ��$� i → ∞}
= {x ∈ X : ρ(f◦ in(x), p) → 0 ��$� i → ∞}.

"� �� p ����� 	
 ��������
� 	�����	� ��
	� �� ������	� �	����$�� ���	�������
�
	��� ��������� ρ(f◦ i(x), f◦ i(p)) → 0 ��$� i → ∞! ����
 � �� 
 f �����
��������5�	
� 	�����	� �� ������	� * ��5�� ���� �)���! �
	��� $������ i → −∞
���� ���
���	��� ����	
! %� ������ ��� �
	���� ��� ����� 
���$�� ���	�������
��� �� p �������� ���	�	 ���!5���� ��� p ��� ��	)�������� 	� W u(p)!

��	 *� �)� ��������� ������!�)� �
��� �� �����	��	��� �� .��� *�)� �)�
��	���� ��� �� �"�������	��� �	 ���	�	 �)� ��	����  	� �
���  ���	���#�7 �������
 ���	���#�7 ���� �)���#� ��	��� H������7 ���* �
��� ������	� H��  ��!���(��7 �� �
f(x) �
��� #�� ������	�!5��	  	������	7 �*�� �	 �� ��	��� � ������� ��  ���	���!
����
�  ���*�	� n7 � ����
 ��� � 
���� ��� �"
�)��� f◦n(x) = x7 � 	 	
� �
���
���  	��)������ �"
�)�� ��5�	� 2n� H�, ���*  ���	��9*����� �*�	 ��  	�	���#� �
(�)������#� ������#� ���� �� �����!�	��� �� �������� ��*� �	5#��	� ��������	��
���* ����
��� *��  �# �� �� F!"	��� (�� ��� (�)������� ���*�� ��� ��� ���.	�!�
*�)� �)� ��	���� ��*� ��������	��

���� � (�)������� ���*��  ��#����� � * �	 ������		� ��� ,������ ���* �
���
��� ���*��7  !�) ���� 
��� ���  ��(������ ��5�
� * )� ���� �����
5����  �	� �	
� 
 ��	7 *�)� �)� ��	���� ��*� ��������	��

< (��.���  ��!����� ��� f(x)  ���#��� ����
)�  ���	.	�
� �������� �� ���
 ���� � ��!��F� ��� f � � 	�	��� �� �� ������	 	���	��� ���� �� (
��� 	����
� ��� ���.	�! �)� � �����F�)� �F��*����� �!"��7 !�� ��� �	 ��!(����� .!��)�7
�#�) ��� ��*�	�5�� ��������
�� � 	 	
� ����
��� ���,��� ������
�


+
����� -
= !���� ���  	�� ���!����� ��������� (�� ��� ��!����� �)� ��	���� ��*� ��6

�����	� ��������	� ��� ������� �	�.�� {R; f(x)}� ���� �������������� �� (��.���
 ��!����� ��� ���!������ f : R → R� ?�  ���(�!F	��� ���7  )� ������	 	��
���
 �	� ��� ��!����� ��� ��	��!� {xn = f◦n(x0)}∞n=1 ��*� ����
	� x0 ∈ R�

H�� � �*���� � 	5#�	��� *�� f : [0, 1] → [0, 1]� L)(��.�
��� �	 ����!()�	
{(x, y) : 0 ≤ x ≤ 1, 0 ≤ y ≤ 1} ��� ����(��.���� �� (��.���  ��!����� ���
y = f(x) ��� ��� y = x (�� x ∈ [0, 1]� M�������� � * �	 ����
	 (x0, x0) ��� ����#���
�	 �#�) ��*� ��5�(����	� ������	� �� �	 ����
	 (x0, x1 = f(x0))� ����#���
���* �	 ����
	 �#�) ��*� ��5�(����	� ������	� �� �	 ����
	 (x1, x1)� ����#���
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���* �	 ����
	 �#�) ��*� ��5�(����	� ������	� �� �	 ����
	 (x1, x2 = f(x1))
��� �����
��� 	�	
)�� < ��	��! �����
�����  !�) ��� ������� #��� �	���� ��5�
�
y = x7 * )� ��� � ��	�	�5
� �)� ����
)� (x0, x0), (x1, x1), (x2, x2) . . .� ;��	���
�	 � 	�#����� ����� ��� (�)�������� ���������� ����������		��

-
��� !���	 �	 �� (�!F�� ����
� �! 	��� ��������
�� 	� 	 	
�� �� �����!9	��
���	���(�!����� �� ��� 	5*�� ��*� � 	�	(����� '	 ��*�	�5	  �*(����� ��	 	��

����� ������� ��� � �
����� '	 �������* �������  	� ������	 	��
��� �� �����
���  ��
 �)�� �
��� ���* �	� 3�����
(���	� � /��� ����� ���0� ;!�� ��!�	(	 �	�
Web Diagrams1 � !���� ��	 G�I�

����� ���8 ,-�� ���	��!(������

program Web_Diagrams1;
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

var
ErrCode,n,Gd,Gm : integer;
l,xn,k,deltax,y : real;
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function f(x : real) : real;
begin

f:=l*x*(1-x)
end;

begin
repeat

clrscr;
write(’����� ��� �	
����

 � � ’); readln(l); {3.79}
write(’����� �
 �����
 ��������� ��� �

���� � ’); readln(xn); {0.95}
deltax:=1/maxcol;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
ErrCode:=GraphResult;
if ErrCode=grOK
then begin

ClearDevice;
k:=0;
n:=GetMaxColor-1;
repeat
PutPixel(trunc(maxcol*k),maxrow-trunc(maxrow*f(k)),n);
k:=k+deltax

until k>1;
MoveTo(trunc(xn*maxcol),maxrow);
n:=0;
repeat
n:=n+1;
y:=f(xn);
SetColor(n);
LineTo(trunc(xn*maxcol),maxrow-trunc(xn*maxrow));
LineTo(trunc(xn*maxcol),maxrow-trunc(y*maxrow));
xn:=y

until keypressed
end

else writeln(’Graphics error:’,GraphErrorMsg(ErrCode));
CloseGraph;
write(’�� ������ �	 ������ ���	 <ESC> ’);
readln

until readkey=#27
end.
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��	�	�5����� ��� 
��� ����	(������ ���! ���!9	���� �
(	 ��� (����#� 
&K�� � �6
��(�!�	��� � ��!����� �	�  �	(�!����	� Web Diagrams1�

program Web_Diagrams2;
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

var
ErrCode,n,Gd,Gm : integer;
l,xn,k,deltax,xnold : real;

function f(x : real) : real;
begin

f:=l*x*(1-x)
end;

begin
repeat
clrscr;
write(’����� ��� �	
����

 � � ’); readln(l);
write(’����� �
 �����
 ��������� ��� �

���� � ’);readln(xn);
deltax:=1/maxcol;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
ErrCode:=GraphResult;
if ErrCode=grOK
then begin

ClearDevice;
k:=0;
n:=GetMaxColor-1;
repeat
PutPixel(trunc(maxcol*k),maxrow-trunc(maxrow*f(k)),n);
k:=k+deltax

until k>1;
MoveTo(trunc(xn*maxcol),maxrow);
n:=0;
repeat
n:=n+1;
LineTo(trunc(xn*maxcol),maxrow-trunc(xn*maxrow));
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xnold:=xn;
xn:=f(xn);
SetColor(n);
LineTo(trunc(xnold*maxcol),maxrow-trunc(xn*maxrow));

until keypressed
end

else writeln(’Graphics error:’,GraphErrorMsg(ErrCode));
CloseGraph;
write(’�� ������ �	 ������ ���	 <ESC> ’);
readln

until readkey=#27
end.

'	 G+I (�� �	� 
��	 ��	 * ������	 	��
 �! 	��� ��������
��7 ��� 	 	
�� ���
� �	 	6
5������� �� #�� ��	 	���#�	  �*(����� /��� ����� ���40� '	 �������* �������
 	� ������	 	�	��� ��� �
��� *�	�	 �� �	  �	�(	����	7 � ��� #���  �	���5�
 ���
���5��!�

����� ���48 ,-�� ���	��!(������

program Baustein2_1_2N1;
uses
Crt,Graph,UtilUnit;
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var
population,kopplung : real;

function f(p,k : real) : real;
begin
f:=p+k*p*(1-p)

end;

procedure ParabelUndWinkelhalbierende(population,kopplung : real);
var
xKoordinate,deltax : real;

begin
deltax:=(xmax-xmin)/maxcol;
SetzeweltPunkt(xmin,ymin);
ZieheWeltLinie(xmax,ymax);
ZieheWeltLinie(xmin,ymin);
xKoordinate:=xmin;
SetColor(GetMaxColor-1);
repeat
ZieheWeltLinie(xKoordinate,f(xKoordinate,kopplung));
xKoordinate:=xKoordinate+deltax

until xKoordinate>xmax;
GeheZuWeltPunkt(population,ymin)

end;

procedure GrafischeIteration;
var
n : integer;
vorigepopulation : real;

begin
ParabelUndWinkelHalbierende(population,kopplung);
n:=0;
repeat
n:=n+1;
SetColor(n);
ZieheWeltLinie(population,population);
vorigepopulation:=population;
population:=f(population,kopplung);
ZieheWeltLinie(vorigepopulation,population)

until keypressed



�

�

�

�

�

�

�

�

	. �
����� ���
���� �� ���������

end;

procedure Hello;
begin

Clrscr;
InfoAusgeben(’Grafische Iteration ’);
InfoAusgeben(’------------------- ’);
NeueZeile(2);
WeiterRechnen(’Start: ’);
NeueZeile(2)

end;

procedure Goodbye;
begin

WeiterRechnen(’Beenden: ’)
end;

procedure Eingabe;
begin

LiesReal(’Xmin >’,Xmin); {0}
LiesReal(’Xmax >’,Xmax); {1.5}
LiesReal(’Ymin >’,Ymin); {0}
LiesReal(’Ymax >’,Ymax); {1.5}
LiesReal(’Population >’,population); {0.1}
LiesReal(’Kopplung >’,kopplung) {1.99}

end;

procedure BerechnungUndDarstellung;
begin

EnterGrafic;
GrafischeIteration;
ExitGrafic

end;

begin
Hello;
Eingabe;
BerechnungUndDarstellung;
Goodbye

end.



�

�

�

�

�

�

�

�

�7� $��*����� ���
���� 79

1 �������	� ��* 	� (�� �� �����!�	��� ���  ��(�������  	�� �	�� ��� ���6
.	�! ��� � ��� �"
�)��� �� ��� 	 	
� ���	�	������ �
��� �#�) ��� ������ ��*�
(��.����	�� ���! �� (��.����� ���.#�	���� ����5)� )� ������		��� ��������+
����� 3�����*����� �� �	�#����� � 	��
 	 �����.��*���	� ���(������ �� ���� ���
G$I7 G+I7 G��I ��� G��I /��� ������� ����7 ����0�

����� ����8 ,-�� ��!(����� ����������)� (�� ���  ��5������� �"
�)���

program bifurc;
uses
Crt,Graph;

var
ch : char;
r,x,delta_r : real;
GraphDriver,GraphMode,i,j : integer;
row,col : longint;

begin
r:=0.95;
GraphDriver:=4;
GraphMode:=EGAHi;
InitGraph(GraphDriver,GraphMode,’c:\tp\bgi’);
SetColor(15);
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����� ����8 - #����� �	� ���(�!����	� ����������)��

for j:=0 to 1 do
begin

delta_r:=0.005;
if j=1 then
begin

r:=3.55;
delta_r:=0.0005

end;
for col:=0 to 639 do
begin

x:=0.5;
r:=r+delta_r;
i:=0;
repeat
x:=r*x*(1-x);
{ COMPUTATION FOR rx(1-x)
row:=349 - Round(x*350); }
{ COMPUTATION FOR x(1-x) }
row:=Round(349 -((x/r)*700));
if i>64 then
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if row<350 then
if row>=0 then

if col>=0 then
if col<640 then PutPixel(col,row,15);

Inc (i)
until (x>1000) or (x<-1000) or (i>255)

end;
ch:=ReadKey;
ClearDevice

end
end.

,-��� .
�	� �	� Robert Mays, o James A.Yorke7 #���� ��� ������� ��5�������
��!���� ��� ��� ���.	�!� ���  ��5�������� �"
�)��� ��� �	� 2��#����	 �	� ��+�7
��9
 �� �	� Tien–Yien Li ���	�
����� �	 G�&I� ���*  	� ���!.���� �� ��
"	�� ����
*��7 �� ��� ���!����� *�	��  �	� ���  ��5������� �"
�)�� #���  ��
	�	 ��
�7 �*��
#���  ���*�	�� (�� �!5� !��	 ���5�* n�

�� 	 Mitchell Feigenbaum (����9� ��� ��(��
� �)� Robert Mays ��� James
A. Yorke � �� ���� �� 5#�� �� ��� �� ���(�!����� ����������)� �	� Mays7 ��
5� #���� �� ��������� �	� ����!��F�� ���! �	 ��+$7 	 Feigenbaum7 �
�� ���
 ��5������� �"
�)�� � * !��� 	 ���� ()�
��

1 Feigenbaum  �	� !5��� �� ��5	�
��� ��� ���#� �	� λ ���! ��� 	 	
�� � ���(6
�!����� �	 �#(���	 (�� �!5� ���	�	 ����������)�� �� "������	��� �� �� �#(����
���� �	� x ��� �����#�	��� 2n � �����F���7 * 	� n �
��� �	  ��5	� �)� ��������6
��)�7 5� (���!�� (��) (��) ��� �#�	� *�)� �)� �������	����)� ����� �	� x ���
5� � ����#F	��� "��! ��	 �#(���	� ,-���7 #�	��� �� (����� #�.����8

xmax = (λnf)2mn
xmax

�	 	 	
	 (�� ���  ��5������� �"
�)�� �
���8

xmax = [λnxmax(1 − xmax)]2mn
.

N!��	���� �� ���� #��� ��* 	 ���� �� ������� �	  ��5	� �)� � 	�	(�����
 	� � ���	�����7 ���� �� ��5�
 �  �	�(	����� �"
�)��7 ����!��F� ��� �"�	����
6
)��  �(�*���� ��#�� ����"� (���	����� ��9��� ���� ���.#����� )� 	 ���5�*�
Feigenbaum7

λn − λn−1

λn+1 − λn
= 4.6692016091029....

'	 ��*�	�5	  �*(�����  ��!(�� ���  ����� 17λn ���#� (�� ���  ��5�������
�"
�)���
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program feigenbm;
uses
Crt;

var
x,lambda,f,step_size,old_x,test,lambda_1,lambda_2,delta,
init_step,old_lambda,new_step,old_step : extended;
i,iterations : longint;
j,sign : integer;

begin
ClrScr;
lambda:=3.0;
Writeln(’n Lambda Delta’);
init_step:=1;
for j:=1 to 19 do
begin

if j mod 2=0
then sign:=-1
else sign:=1;

GotoXY(0,15+j);
init_step:=init_step/4.67;
step_size:=init_step;
iterations:=2;
for i:=1 to j-1 do
iterations:=iterations*2;

old_x:=0.5;
lambda:=lambda+step_size;
repeat
x:=old_x;
for i:=0 to iterations-1 do

x:=lambda*x*(1-x);
test:=(x-old_x)*sign;
if test<0 then
begin

lambda:=lambda-step_size;
step_size:=step_size/2

end;
old_lambda:=lambda;
lambda:=lambda+step_size;
GotoXY(1,j+3);
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write(j:2,’ ’,lambda:20:18,’ ’);
until old_lambda>=lambda;
if j>2 then
begin

delta:=(lambda_1 - lambda_2)/(lambda - lambda_1);
write(delta:20:18)

end;
lambda_2:=lambda_1;
lambda_1:=lambda

end
end.

�� *�� �� � *���� I �
��� #�� ������* ��!����� �	� R ��� {R; f} �
��� #��
�������* ������� �#�	�	7 ���� � f �
��� ����7 ���� ��!��� C1 /� f ′(x) � !���� ���
�
��� ������� (�� �!5� x ∈ I0�

������� �7�7. ����� p ��� ��������
 �
	��� �������
 ����
��� n! %� �
	��� p
����� � ���	���*� �� |(f◦n)′(p)| �= 1! 3 ���$	
 (f◦n)′(p) ��������  	��� ���������
��� ���������� �
	����!

����
�9 �7�7� %� p ����� ��� ��������
 ��������
 �
	��� �
 f ����
��� n �
��
��� 	
���� �� |(f◦n)′(p)| < 1! �

����
�9 �7�7- %� p ����� ��� �������
 ��������
 �
	��� �
 f ����
��� n �
��
��� 	
���� �� |(f◦n)′(p)| > 1! �


�
 ��	�

�� *�� �� � *����7 J �
��� #�� ������* � 	���	�	 �	� R.

������� �7�7� ' f :J → J ������� �	 	�	(���� ����������� �� ��� ��$� ����� 
�������� ���
��� U, V ⊂ J ����&�� ��� ������� k > 0 ������ � ���� f◦k(U) ∩
V �= ∅.

2����5������7 ��� �	 	�	(���� ���������� � ���*���� #��� ����
� �� 	 	
� ������6
�	����� ������� � * � ��!��F� � * ��� ��5���#�)� �����  ���	��  �	� 	���� 	��
!���� ���� ��7 �	 �������* ������� ��� � 	��
 �� � 	�����5�
 �� ��	 ��!9�����
��	���! ���	�� �� 	 	
� �
��� ����!����� � * ��� � ���*�����

����
�9 �7�7� "� 
 ���&�� {f◦k(x)}∞k=1 ����� ����� ��� ������
 ������ U ⊂ J
��� ������ x ∈ U � �
�� 
 f ����� ���������� 	���)�����! �
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������� �7�7� ���� ����	��
 ����
	� {X; f} ����� �	 	�	(���� ���������*� ��

 f ����� ���������� 	���)�����!

�
�:�����


�� '	 �������* ������� {[0, 1]; f(x) = min(2x, 2 − 2x)} �
��� �	 	�	(���� ��6
�������*� 3�!(����7 #��) *�� U, V �
��� 	�	�� 	�� 9��(	� ��	����� ������6
�!�)� ��	 ������* ���	 ([0, 1], ρE)� 3�	.���� �!5� �.���	(� �	� �������6
������	� ��"!��� �	 ���	� �	� ���������	� V ���! �#�	�	� ��* 	7 ���� ���*
������� � ����� ��� �	 U �

������� �7�7� ' f :J → J �&�� ���
�5��� �"!����� �� �����#� ���5����� ��
����&�� δ > 0 ������� ���� ��� ��$� x ∈ J ��� ��$� �����&� U ��� x ����&�� y ∈ U
��� ��� ������� n ≥ 0 ������ � ���� ρ(f◦n(x), f◦n(y)) > δ.

2����5������7 ��� � ���*���� #��� ���
�5��� �"!����� � * �����#� ���5����7 ��
� !��	�� ����
� ��5���#�)� �	��! ��	 x �� 	 	
� ������� � 	������	���� � *
�	 x �	��!����	� δ7 ���! � * � ��!��F� ��� f � ,���7 ����
� �� 	 	
� ��
��	����
������� �	��! �	 #�� ��	 !��	 ���  ����#�	�� �	��! ���! � * � �����F��� ��� f �

�
�
��,��
�


�� < ������	�!5��� � ���*���� Fμ(x) = μx(1−x) �� μ > 2+
√

5 #��� ���
�5���
�"!����� �� �����#� ���5���� ��	 Λ7 * 	� Λ �
��� #�� ���	�	 �� 	� Cantor�
H�� �� �	 �	���7 � ��#(	��� δ <����(A0)7 * 	� A0 �
��� �	 ���* ����"� I0

��� I1� ,-��) x, y ∈ Λ� �� x �= y7 �*�� S(x) �= S(y)7 #��� �� ��	�	�*(�� �)�
x ��� y  �# �� �� ���.#�	�� �� �	��!����	� #�� �#�	�7 #��) �	 nK��	� ���!
���* ����
��� *�� 	� F ◦n

μ (x) ��� F ◦n
μ (y) ��
��	���� �� ���
5����  ����#� �	�

A0 #���7 ����
|F ◦n

μ (x) − F ◦n
μ (y)| > δ. �


� ��� !�����  ������	.� �	� ����	� �
��� �	 	�	(���� ����������7 ���! ��
���
�5��� �� �����#� ���5����7 �.	� *�� �� ����
�  ����#�	�� ���� 
���
� *����� �)����! ���! ��� � ��!��F�� �

������� �7�7� %� ����	��
 ����
	� {X; f} ����� ���
�5��	 �� �����#� ���5�6
���� �� 
 f �&�� �����$
�
 �#���
�
 ��
 ��&��� ���$��� !

�
�:�����


�� '	 �������* ������� {[0, 1]; 2x (mod 1)} �
��� ���
�5��	 �� �����#� ���6
5����� �
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������� �7�7- ����� V ��� ������! ' f :V → V ������� 
�� ����� ������ ���
V � ��

0! 
 f ����� ���������� 	���)������

4! 
 f �&�� �����$
�
 �#���
�
 �� ��&��� ���$��� ���

7! �� ������ ��� ���������� �
	���� �
 f ����� ����
 ��� V.

�
�:�����


�� < � ���*���� �	� 3�����
(���	� ��+ �
��� ������ ��	 [0, 1]� �


�� �	 ���	�	 Mandelbrot ��� �� ���	�� Julia

�� ����� ���  ��!(��.	 5� ���	��5	��� �� �� �������� ������	��5�
)�  	��)6
���)� ��� �	�.�� Qc(z) = z2 + c ��	 ��(����* � 
 ��	7 ������ z, c ∈ C�

'	 ������	�!5��	 ���*  	������	 � 	��
 �� (��.�
 � * �� �	�.� ���� � ���
��!������

zn+1 = z2
n + c = f(zn, c) ⇔ xn+1 + iyn+1

= (xn + iyn)2 + a + ib = x2
n + 2ixnyn + i2y2

n + a + ib

= x2
n − y2

n + a + 2ixnyn + ib

= x2
n − y2

n + a + i(2xnyn + b)

⇔
{

xn+1 = x2
n − y2

n + a = f1(xn, yn, a)
yn+1 = 2xnyn + b = f2(xn, yn, b)

/���0

����� �� ������ Mandelbrot

1 ��������*� ��5������*� B.B. Mandelbrot � ���
����  ���	� �	 ��&4 ��  ���6
������ (��.���� �	 � * �	� 
��	 � 	�	��9*���	 ���	�	 ��� ��  ���(�!F�� � �������
�� �	�.	�	(
� �	�� >*() �	� � 	�	(�����	� �*��	��7 ��
5��� � ���
���� � ���6
���	 	
��� ��*� � 	�	(�����

������� �7�7� %� ���	�	 Mandelbrot ����� �� ��������� ��� c*��������

M = {c ∈ C : �� {Q◦n
c (0)}n≥1 ����� ,���	���}

= {c ∈ C : Q◦n
c (0) �→ ∞ ��� n → ∞}

= {c ∈ C : zn �→ ∞ ��� n → ∞}
= {(a, b) ∈ R × R : xn � yn �→ ∞ ��� n → ∞}.
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+
����� �
���*� 	 	����*� ��� 	��(�
 (��(	�� �� ���  ���� ���	�� ��*� ��(	�
5�	� (��

�� (��.���  ��!����� �	� ���*�	� M �
- ��#"�� �� �!5�  #����� ��� ��!������ /���0 ��� ������ ���� x0 = y0 = 0� 1�

 ��!����	� a ��� b �����#�	�� ������������ *�� �� ����
� ��*� 	�5	(���	� �	�#�
�	� � 
 ��	� �)� aKb� �����#F�� �	 ����
	 (a, b)7 �!� � ��!����� ��� 	��(�
���
��	� ������� ∞�

���� � ���	�� ��� �
��� ������� ���!����� )�  �	 �������� ��*�  �	(�!���6
�	�7 ��*�� ���  ���������� ��  � �����#�	 ��*�	�

;��, ���!�7  ���	��9*����� �*�	 ��	  � �����#�	  ��5	� �)� ����
)� ���
	5*���� 3)� *�)� 5� �"�����)5�
 �� ��� ��!����� ��(��
��� � *��D

�.��	��� ��� ��!����� �� ��#"��  ���	����#��7 �	  	�� nmax .	�#�� �� �6
 � �	�5#�)� � � *����� �)� ����
)� zn = (xn, yn) � * ��� ���� ��� "� ��!���
��� ��(������#�� 	����� � *����� g7 �*�� 5� � 	�	(����
 ��� 5� ��)�����5�
 �	
����
	 (a, b) �	� ���*�	� M � ���	
 	�  ���	����	
 ��5	�
9	�� #��  ���(*���	 � *
�	� � 	�	(���� ���	�	 Mandelbrot

Mυπoλ = {c ∈ G : |znmax| < g},
* 	� G �
��� ���  � �����#��  ���	�� �	� ��(����	� � 
 ��	� /� 
 ��	� �)� aKb0�
/@�� ����� ���
0�

����� ���
8 '	 ���	�	 Mandelbrot�
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program Mandelbrotmenge1;
{ x^2+y^2>g }
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

var
i,j,n,nmax,Gd,Gm : integer;
a,b,da,db,amin,amax,bmin,bmax,x,y,xneu,g : extended;

begin
clrscr;
write(’amin = ’);readln(amin); {-2}
write(’amax = ’);readln(amax); {1}
write(’bmin = ’);readln(bmin); {-1.15}
write(’bmax = ’);readln(bmax); {1.15}
write(’������
 ����
� ��� ��	�	������ ��	� 	���
	���� nmax = ’);
readln(nmax); {80}
write(’ 
 ���
����
 ��� 

�	��� 	�!��	��� 	�! ��� 	
��� g = ’);
readln(g); {4}
da:=(amax-amin)/maxcol;
db:=(bmax-bmin)/maxrow;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
for i:=0 to maxcol-1 do
begin

a:=amin+i*da;
for j:=0 to maxrow-1 do
begin

b:=bmin+j*db;
x:=0;
y:=0;
n:=0;
repeat
xneu:=sqr(x)-sqr(y)+a;
y:=2*x*y+b;
x:=xneu;
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n:=n+1;
until (n=nmax) or ((sqr(x)+sqr(y))>g);
if n=nmax then
PutPixel(i,j,3)

end
end;
readln;
CloseGraph

end.

)�
��:��
�
 �
�������

'	  ����!��	� �	� ���*�	� Mandelbrot �
���  	��
�)� �	���#�	7 *��� �� ����
�
��)������	�� �� ��#�� �� �	  ��5	� �)� � �����F�)� 	� 	 	
�� � ���	�����7 ����
�� �.��	�� �� ��(������ � � *����� ��*� ����
	� (xn, yn)  #�� � * )����#�� *���
/ ��� g = 100000� �� #�� ����
	 (a, b) ��
������ �	��! ��	 ���	�	 Mandelbrot7
�*�� �#�) ��� /���0 5�  ����5�
 ��� ��	�	�5
� ����
)� (xn, yn), n = 1, 2, . . .7 �
	 	
� ��(! ��(! � 	���������� � * �	 ���	�	 Mandelbrot ��� � ����
 � 	�#�)�
#�� ��(!�	  ��5	� ������������ ���!�)� (�� �� � ����
 ��� ��(������#�� 	�����
� *������ ,-�� ����
	 (a, b)  	� ��
������ ��*�� ��������� 5� 	��(�
��� (��(	6
�*����  #�� � * ��� 	����� � *������ ���� � ��� ���.	�! ��� ��������� � 	��

�� .���
 �� #�� (��.��* �#�) �	� ��*�	�5	�  �	(�!����	� /��� ����� ����0�

����� ����8 '	 ���	�	 Mandelbrot �#�� � * #�� ��!(����� �������)��
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program Mandelbrotmenge2;
{ x^2+y^2>g }
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

var
i,j,n,nmax,Gd,Gm : integer;
a,b,da,db,amin,amax,bmin,bmax,x,y,xneu,g : extended;

begin
clrscr;
write(’amin = ’);readln(amin); {-2}
write(’amax = ’);readln(amax); {1}
write(’bmin = ’);readln(bmin); {-1.15}
write(’bmax = ’);readln(bmax); {1.15}
write(’������
 ����
� ��� ��	�	������ ��	� 	���
	���� nmax = ’);
readln(nmax); {80}
write(’ 
 ���
����
 ��� 

�	��� 	�!��	��� 	�! ��� 	
��� g = ’);
readln(g); {4}
da:=(amax-amin)/maxcol;
db:=(bmax-bmin)/maxrow;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
for i:=0 to maxcol-1 do
begin

a:=amin+i*da;
for j:=0 to maxrow-1 do
begin

b:=bmin+j*db;
x:=0;
y:=0;
n:=0;
repeat
xneu:=sqr(x)-sqr(y)+a;
y:=2*x*y+b;
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x:=xneu;
n:=n+1;

until (n=nmax) or ((sqr(x)+sqr(y))>g);
if n<nmax then
PutPixel(i,j,n mod 16)

end
end;
readln;
CloseGraph

end.

1�  ���	�#� 	�	
)� �������)� #�	�� ���������
 �����! ����#� ��	 !���	  �6
���!��	� �	� ���*�	� Mandelbrot� 2�� � 	�	�� ��  ������5	�� � * ��� 	5*��
)� ��������#� ���������� ��� � ���!9	���� �*�� � * ��	�������� ���� �  ���	��
������
9�� ��� �	����  !�) � * �	 ���	�	 Mandelbrot ��� ���  �# �� �� ��)��6
���5�
� %�)���
9	��� �	� *� �*�	7 *��� �	 n ��
������ �!�) � * #��� � ���(�#�	
���5�* m7 * 	� ����
)� �
��� m < nmax� < �	���� � ���(�!����� ����
)� (��
���
�� �� n7 (�� �� 	 	
� ������ m ≤ n ≤ nmax /��� ����� ����0�

����� ����8 '	 ���	�	 Mandelbrot �#�� � * �
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program Mandelbrotmenge3;
{ x^2+y^2>g }
uses
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Crt,Graph;
const
maxcol = 640;
maxrow = 480;

var
i,j,m,n,nmax,Gd,Gm : integer;
a,b,da,db,amin,amax,bmin,bmax,x,y,xneu,g : extended;

begin
clrscr;
write(’amin = ’);readln(amin); {-1.825}
write(’amax = ’);readln(amax); {-1.675}
write(’bmin = ’);readln(bmin); {-0.05}
write(’bmax = ’);readln(bmax); {0.05}
write(’������
 ����
� ��� ��	�	������ ��	� 	���
	���� nmax = ’);
readln(nmax); {80}
write(’ 
 ���
����
 ��� 

�	��� 	�!��	��� 	�! ��� 	
��� g = ’);
readln(g); {4}
write(’m = ’);readln(m); {15}
da:=(amax-amin)/maxcol;
db:=(bmax-bmin)/maxrow;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
for i:=0 to maxcol-1 do
begin

a:=amin+i*da;
for j:=0 to maxrow-1 do
begin

b:=bmin+j*db;
x:=0;
y:=0;
n:=0;
repeat
xneu:=sqr(x)-sqr(y)+a;
y:=2*x*y+b;
x:=xneu;
n:=n+1;
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until (n=nmax) or ((sqr(x)+sqr(y))>g);
if n=nmax
then PutPixel(i,j,n)
else if n<m then

PutPixel(i,j,n mod 2)
end

end;
readln;
CloseGraph

end.

� 	�	��� (��  ���������	�� ��	 	�� �� ������	 	���	��� !��� �������� � *6
������ ���*� ��� �����
������ -��
� �!�	��� ����� �)�

�0 |x| + |y| > g

�0 |x| > g

(0 max(|x|, |y|) > g.

����� �	 �����	 Julia

������� �7�7� ����� p: C → C ��� �������	� 	� 	�������� ���������� ! %�
���	�	 Julia ��� p� �� ����� ��	)�������� 	� J(p)� ����� 
 ������
�
�� ��� ���
���
��� ��������� ���������� �
	���� ��� p� �
�!

J(p) = {w ∈ C : f◦n(w) = w ��� |(f◦n)′(w)| > 1 ��� ������ n ∈ N}−.

%� ��	�����	� ��� ���
��� Julia �������� ���	�	 Fatou � ���	�	 ����!5���� ���
p ��� ��	)�������� 	� S(p) � F (p)!

������� �7�7� ����� p: C → C ��� �������	� )�$	�� 	���������� ��
 ���!
%� (�����#�	 ���	�	 Julia� K(p)� ��� p ����� �� ������ ��� �
	���� ��� ������
�� ���&�� ��� ������� ��� ������� �
�!�

K(p) = {z ∈ C : p◦n(z) �→ ∞ ��$� n → ∞}
= {z ∈ C : �� {|p◦n(z)|}∞n=0 ����� ,���	���}
= C \ W s(∞).

������� �7�7� %� ��	��	��� ������ Julia� Kc� ��� Qc ����� ��

Kc = {z ∈ C : Q◦n
c (z) �→ ∞ ��$� n → ∞}.

��������� *�� �	 Kc  ���#���  !��� �	 ���	�	 Julia �	� Qc�
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8���9�
 �7�7� ����� p: C → C ��� �������	� )�$	�� 	���������� ��
 ���!
����� 
�� K(p) ��	)������ �� ��	��	��� ������ Julia ��� p ��� ���� 
�� J(p)
��	)������ �� ������ Julia ��� p. %
�� K(p), J(p) ∈ H(C)! 1���������

p(J(p)) = J(p) = p−1(J(p)) ��� p(K(p)) = K(p) = p−1(K(p))

�
���� �� J(p) ��� K(p) �����  ���)� ����!�����! %� ������ V∞ = C \ J(p) �����
���� �
#� ��������
! �

< � *���"� ���	� �	� 5�)�����	� � !���� ��	 G&I7 ��� ��� � *���"� ��� �������
 ��
 �)��� * 	� K(p) = Kc � !���� ��	 G�I� -��
� ���7 � ��� 5� ���.��5	��� ��
��� �.���	(� �	� 5�)�����	� ���	�7 � 	 	
� ��	 G�I 	�	�!9���� "��
��$	� ���
&�
��� ���,��� �


+
����� �
-��  ���(�!.	��� #�� ���5�����* ������* �� (��.��! �� � 	�	(����  �
����

(�� �� ��(��
�	��� �	7 � ���	����	 � * ��� ��	��#� ���.	������� ����
)�7  ��5	�
�)� � �����F�)� ���� ���! �� ���.�(	�� � * ��� �.�
�� ��(!��� ���
��� ��� �
	 	
� #��� �#���	 ��� �����

,-��)��� �	� *� �	 �������* ������� {R2; f}7 (a, b) ��� (c, d) 	� �������(6
�#��� ��� �!�) ��������� ��� ��� !�) ��"�!� ()�
�� ������	
�)� ��*� ������	�7
(�����#�	� 	�5	()�
	� W ⊂ R

2� ,-��) *�� M1,M2 �
��� ��	 5����	
 ��#���	� ���
	�
9	��� ��� ����5#���� ����
)� �	� W ��

xp,q =
(

a + p
(c − a)

M1
, b + q

(d − b)
M2

)
(�� p = 0, 1, . . . ,M1, q = 0, 1, . . . ,M2.

��	  �
���� ���! �� ����
� 5�  ������5	�� � * ���	�	��	���
� �� ��� �������
��.!����� (��.����� ��(��
�	��� ��� ��	��#� {f◦n(xp,q)}∞n=0 (�� p = 1, 2, . . . ,M17
q = 1, 2, . . . ,M2� ,-��) R #��� 5����*� ���5�*� �����! ��(!�	�� 1�
9	���

V = R
2 \ K(0, R) = {(x, y) ∈ R

2 : x2 + y2 > R}.
,-��) *�� numits ����	�
9�� #��� 5����* ��#���	� '	 ��*�	�5	  �*(�����

� 	�	(
9�� #��  � �����#�	 ���	�	 ����
)� {f◦ 1(xp,q), f◦ 2(xp,q), . . . , f◦n(xp,q)}
 	� ����	�� ���� ��	��! �)� xp,q ∈ W (�� �!5� p = 1, 2, . . . ,M17 q = 1, 2, . . . ,M2�
'	 ���	���*  ��5	� �)� � 	�	(�9*���)� �� ��� ��	��! ����
)� �
��� �	  	��
numits� �� �	 ���	�	 �)� � 	�	(�9*���)� ����
)� ��� ��	��!� �	� xp,q ���
 �������!��� �! 	�	 ����
	 ��	 V *��� n = numits7 �*�� 	 � 	�	(���*�  ���!��
���� � *���� ���� �)� (p, q)� 2��.	�����!7 �	 ���	�	��	���
	  	� ������	���
 ��	
xp,q ��.��
9���� �� #�� ����� �	 	 	
	 �"���!��� � * �	�  ���	 ��#���	 n �#�	�	�7
���� f◦n(xp,q) ∈ V ��� �*�� 	 � 	�	(���*�  ���! ���� � *���� ���� �)� (p, q)�
���* ��� �
��� ��� (��.��� �#5	�	7 ���� �� ��(��
�	���  *�	 ��*�	 ����!9	����
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����� ���$8 '�	 	 	���#�	 ��
()�	 Sierpiński )� #�� ���.��(	� �������* �����6
���

	� ��	��#� ���.	������� ����
)� �	� W �� .5!�	�� �	 V 7 ���� �� ���.�(	�� � *
�	 W /��� ����� ���$0�

program Escape_Time_Algorithm;
{ (2x,2y-1) 	� y>=0.5
f(x,y) = (2x-1,2y) 	� x>=0.5 �	� y<0.5

(2x,2y) ��	�

�����

}
uses
Crt,Graph;

const
M1 = 640;
M2 = 480;

var
R,numits,p,q : 0..maxint;
n,Gd,Gm : integer;
a,b,c,d,x,y : extended;
done : boolean;

begin
numits:=105;{65}
a:=0;
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b:=0;
c:=5*10E-18;
d:=c;
R:=200;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
for p:=1 to M1 do
for q:=1 to M2 do
begin

x:=a+(c-a)*p/M1;
y:=b+(-b+d)*q/M2;
n:=1;
repeat
if y>0.5
then begin

x:=2*x;
y:=2*y-1

end
else if x>0.5

then begin
x:=2*x-1;
y:=2*y

end
else begin

x:=2*x;
y:=2*y

end;
if x*x+y*y>R then
begin

PutPixel(p,q,n);
done:=true

end;
n:=n+1

until (n>numits) or done
end;

readln;
CloseGraph
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end.

'���  ���5#�	��� #�� !��	  ��!���(�� ��*� �������	� ��������	� �	� 	 	
	�
	� ��	��#�  �	� �5	�� �� ���.�(	�� � * �	� ������� ��*� -��� ���� �� .	�!
 �*������ (�� -�� �	� 	 	
	� 	 �������� #��� �� ���* ��)�����* /��� ����� ���+0�

����� ���+8 ,-�� ���.��(	� �������* ��������

program Escape_Time_Algorithm;
uses
Crt,Graph;

const
M1 = 640;
M2 = 480;

var
R,numits,p,q : 0..maxint;
n,Gd,Gm : integer;
a,b,c,d,newx,x,y,s : extended;
done : boolean;

begin
numits:=20;
a:=0;
b:=0;
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c:=2;
d:=1;
R:=300;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
s:=sqrt(5);
for p:=1 to M1 do
for q:=1 to M2 do
begin

done:=false;
x:=a+(c-a)*p/M1;
y:=b+(-b+d)*q/M2;
n:=1;
repeat
if x>0

then begin
newx:=s*y;
y:=-s*x+s

end
else begin

newx:=s*y;
y:=-s*x-s

end;
x:=newx;
if x*x+y*y>R
then begin

PutPixel(p,q,n);
done:=true

end;
n:=n+1;

until (n>numits) or done
end;

readln;
CloseGraph

end.

'	 ��*�	�5	  �*(����� �
��� ����*� �	 
��	 �� �	  ���	 �*�	  	� ���.	�	 	�6
����� �� a, b, c, d ��� ��� (����#� ��K��� �� � ���� �	� numits �
���  	�� �F���7
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�*��  	�� �
(� ����
� �� 5� ���.��(	�� � * �	 W ��� 5� ��.����5�
 ��� .�)��
���*�� �	� ���(��	� Sierpiński� �� � ���� �	� numits �
���  	�� ������7 �*�� 5�
 ����5�
 ��� #��	�� ���*�� �	� ���(��	� Sierpiński /��� ����� ���&0�

����� ���&8 '�	 	 	���#�	 ��
()�	 Sierpiński )� #�� ���.��(	� �������* �����6
���

program Escape_Time_Algorithm;
{ (2x,2y-1) 	� y>=0.5
f(x,y) = (2x-1,2y) 	� x>=0.5 �	� y<0.5

(2x,2y) ��	�

�����

}
uses
Crt,Graph;

const
M1 = 639;
M2 = 479;

var
R,numits,p,q : 0..maxint;
n,Gd,Gm : integer;
a,b,c,d,x,y : extended;
done : boolean;
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begin
numits:=10;
a:=0.025;
b:=0.025;
c:=1;
d:=1;
R:=200;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
for p:=0 to M1 do
for q:=0 to M2 do
begin

done:=false;
x:=a+(c-a)*p/M1;
y:=b+(-b+d)*q/M2;
n:=1;
repeat
n:=n+1;
if y>0.5

then begin
x:=2*x;
y:=2*y-1

end
else if x>0.5

then begin
x:=2*x-1;
y:=2*y

end
else begin

x:=2*x;
y:=2*y

end;
if n=numits then

PutPixel(p,q,n);
if x*x + y*y > R then

n:=numits;
n:=n+1;
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until (n>numits) or done
end;

readln;
CloseGraph

end.

������� �7�7- "� w ����� ��� ��������
 ��������
 �
	��� �
 f ����
��� n�
���,��	�

A(w) = {z ∈ C : f◦kn(z) → w ��$� k → ∞}
��� �
 ���!�� #�"�� �
 ���&�� � �
�! �����
 ��#
 ����� �� ������ 
��� ���
�
	���� �� ����� ������������ 	�� ��$���� ��������� ��������� ���&��!

3�	.���� � ���!�� #�"�� �
��� #�� ��	���* ���	�	�


+
����� �
?� � ���5���	��� � 	�	(������� *�� ��� ��� ��� C��.!��� ��	��	�E �
��� #��

���	�	 ��� ���!��� #�"�� �	� �������	� ��������	� {R2; f} * 	� (�� �!5� (x, y) ∈
R

28

f(x, y) =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

(0,−1) �� y < 0
(3x, 3y) �� y ≥ 0 ��� x < −y/

√
3 + 1

((9 − 3x − 3
√

3y)/2, (3
√

3 − 3
√

3x + 3)/2) �� y ≥ 0 ��� − y/
√

3 + 1 ≤ x < 3/2
((3x − 3

√
3y)/2, ((3

√
3x + 3y − 6

√
3)/2)/2) �� y ≥ 0 ��� 3/2 ≤ x < y/

√
3 + 2

(9 − 3x, 3y) �� y ≥ 0 ��� x ≥ y/
√

3 + 2

/��� ������� ����7 ���47 ����0�

program schneeflocke;
uses
Crt,Graph,UtilUnit;

var
i,t,vz : integer;
s : real;
ch : char;

procedure ZACKEN1(s : real;t : integer);
begin

if t=0
then forwd(round(s))
else begin

ZACKEN1(s/3,t-1);



�

�

�

�

�

�

�

�

�7� 2� �;���� Mandelbrot �
� �
 �;���
 Julia 101

����� ����8 %�	�	��.!����

turn(-60);
ZACKEN1(s/3,t-1);
turn(120);
ZACKEN1(s/3,t-1);
turn(-60);
ZACKEN1(s/3,t-1)

end
end;

procedure ZACKEN2(s : real;t,vz : integer);
begin

if t=0
then forwd(round(s))
else begin

ZACKEN2(s/3,t-1,vz);
turn(-(vz*60));
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����� ���48 %�	�	��.!��� /���#����0�

ZACKEN2(s/3,t-1,vz);
turn(vz*120);
ZACKEN2(s/3,t-1,vz);
turn(-(vz*60));
ZACKEN2(s/3,t-1,vz)

end
end;

procedure ZACK_VAR(s : real;t : integer);
begin

if t=0
then forwd(round(s))
else begin

ZACK_VAR((s/19.942)*6,t-1);
turn(-87);
ZACK_VAR((s/19.942)*9,t-1);
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turn(174);
ZACK_VAR((s/19.942)*9,t-1);
turn(-87);
ZACK_VAR((s/19.942)*13,t-1);

end
end;

begin
GrafMode;
OutTextXY(315,0,’SNOWFLAKES’);
OutTextXY(250,10,’Press any key to continue’);
xco:=0;
yco:=300;
GeheZuBildPunkt(xco,yco);
hd:=0;
s:=125;
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for t:=0 to 4 do
begin

if t<>0 then
if (t mod 3=0) then
begin

xco:=110;
yco:=yco-180;
GeheZuBildPunkt(xco,yco)

end;
for i:=1 to 3 do
begin

ZACKEN1(s,t);
turn(120);

end;
xco:=xco+225;
GeheZuBildPunkt(xco,yco)

end;
ch:=readkey;
ClearDevice;
OutTextXY(315,0,’SNOWFLAKES’);
OutTextXY(250,10,’Press any key to continue’);
xco:=0;
yco:=300;
GeheZuBildPunkt(xco,yco);
s:=125;
vz:=-1;
for t:=0 to 4 do
begin

if t<>0 then
if (t mod 3=0) then
begin

xco:=110;
yco:=yco-180;
GeheZuBildPunkt(xco,yco)

end;
for i:=1 to 3 do
begin

ZACKEN2(s,t,vz);
turn(120);

end;
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xco:=xco+225;
GeheZuBildPunkt(xco,yco)

end;
ch:=readkey;
ClearDevice;
OutTextXY(315,0,’SNOWFLAKES’);
OutTextXY(265,10,’Press <ENTER> to exit’);
xco:=150;
yco:=300;
GeheZuBildPunkt(xco,yco);
hd:=180;
s:=190;
vz:=-1;
for t:=0 to 4 do
begin

if t<>0 then
if (t mod 3=0) then
begin

xco:=280;
yco:=yco-180;
GeheZuBildPunkt(xco,yco)

end;
ZACK_VAR(s,t);
xco:=xco+410;
GeheZuBildPunkt(xco,yco)

end;
ExitGrafic

end.


+
����� �

< ��!����� zn+1 = z2
n + c  ��!(�� �� ���	�� Julia ���! � �* ��* 	� ��

��#�� �� ��� ��������� �	� ���*�	� Mandelbrot ���!9	�� 	� �*�	� �)� c ��� z�
< ����(��
�  ���!�� ���� ��	 � 
 ��	 �)� xKy8 (�� ��� ������ ��!����� � ��#(����
c = a + ib )� ���5��! ��� � ������ ���� z0 = x0 + iy0 � ��#(���� ������������
� * ���  ���	�� Xmin ≤ x0 ≤ Xmax7 Y min ≤ y0 ≤ Y max�

���� �� � 	�	��� ��  	��� *��

Kc = {z0 ∈ C : zn �→ ∞ (�� n → ∞}
= {(x0, y0) ∈ R × R : xn � yn �→ ∞ (�� n → ∞}.
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����� ����8 ,-�� ���	�	 Julia �#�� � * #�� ��!(����� �������)��

,-"���
�� ���	� # ���� *�� � !��	�� 	���� 	��  	��! ���	�� Julia7 ��*�� �!5�
� ��	(� �	� c ��5	�
9�� ��� #�� ���.	�����* ���	�	 Julia Kc7 �� �	��	�� �� ���
��!����� ������	���
 �*�	 #�� ���	�	 Mandelbrot /��� ����� ����0�

program Juliamenge1;
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

var
i,j,n,nmax,Gd,Gm : integer;
a,b,dx,dy,xmin,xmax,ymin,ymax,x,y,xneu,g : extended;

begin
clrscr;
write(’xmin = ’);readln(xmin); {-2}
write(’xmax = ’);readln(xmax); {2}
write(’ymin = ’);readln(ymin); {-1.6}
write(’ymax = ’);readln(ymax); {1.6}
write(’a = ’);readln(a); {-0.08}
write(’b = ’);readln(b); {0.655}



�

�

�

�

�

�

�

�

�7� 2� �;���� Mandelbrot �
� �
 �;���
 Julia 107

write(’������
 ����
� ��� ��	�	������ ��	� 	���
	���� nmax = ’);
readln(nmax); {70}
write(’"
�	�� 	�!��	�� 	�! ��� 	
��� g = ’);
readln(g); {4}
dx:=(xmax-xmin)/maxcol;
dy:=(ymax-ymin)/maxrow;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then
halt(1);

ClearDevice;
for i:=0 to maxcol-1 do
for j:=0 to maxrow-1 do
begin

x:=xmin+i*dx;
y:=ymin+j*dy;
n:=0;
repeat
xneu:=sqr(x)-sqr(y)+a;
y:=2*x*y+b;
x:=xneu;
n:=n+1;

until (n=nmax) or (sqr(x)+sqr(y)>sqrt(g));
if n=nmax then
PutPixel(i,j,n)

end;
readln;
CloseGraph

end.

,1 )� ��� ��	 ���	�	 �	� Mandelbrot #��� ��� ��� � 	�	��� �� ������	 	�6
��	��� ��� ������� (�� ��.!���� �	� ���(�!����	� �������)� /��� ����� ���
0�

program Juliamenge2;
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

var



�

�

�

�

�

�

�

�

108 �
����� ���
���� �� ���������

����� ���
8 ,-�� ���	�	 Julia �#�� � * #�� ��!(����� �������)��

i,j,n,nmax,Gd,Gm : integer;
a,b,dx,dy,xmin,xmax,ymin,ymax,x,y,xneu,g : extended;
begin

clrscr;
write(’xmin = ’);readln(xmin); {-2}
write(’xmax = ’);readln(xmax); {2}
write(’ymin = ’);readln(ymin); {-1.6}
write(’ymax = ’);readln(ymax); {1.6}
write(’a = ’);readln(a); {-0.12}
write(’b = ’);readln(b); {0.781}
write(’������
 ����
� ��� ��	�	������ ��	� 	���
	���� nmax = ’);
readln(nmax); {70}
write(’"
�	�� 	�!��	�� 	�! ��� 	
��� g = ’);
readln(g); {4}
dx:=(xmax-xmin)/maxcol;
dy:=(ymax-ymin)/maxrow;
Gd:=detect;
InitGraph(Gd,Gm,’c:\tp\bgi’);
if GraphResult<>grOK then

halt(1);
ClearDevice;
for i:=0 to maxcol-1 do
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for j:=0 to maxrow-1 do
begin

x:=xmin+i*dx;
y:=ymin+j*dy;
n:=0;
repeat
xneu:=sqr(x)-sqr(y)+a;
y:=2*x*y+b;
x:=xneu;
n:=n+1;

until (n=nmax) or (sqr(x)+sqr(y)>sqrt(g));
if n<nmax then
PutPixel(i,j,n mod 16)

end;
readln;
CloseGraph

end.

3�	�(	��#�)� �!5���7  )� �� 	�
9	��� �! 	�	�� ������#� -�� ��� (�����#6
�� ���	�� Julia �� �� �	�5��� �	� ��(	�
5�	� �)� ��*�)� ���.�(�� �	� 	 	
	
�.���*9��� �� )����#�� �������! ���������� '��� 5� �"�(��	���  )� �� ���	��
Julia ��*� �����()���	� �������������	� � 	�	�� �� 5�)��5	�� )� 	� ������#�
���!����)� -���

8���9�
 �7�7� ����� (Y, ρ) ��� 	�����
 &��� ! ����� X ⊂ Y ��	���� ���
	
 ���
! ����� f :X → Y ����&� ��� ������� ���� X ⊂ f(X)! %
��

0� ��� 	����&
	����	
 
W : H(X) → H(X)

�������� ��
 �
� W (A) = f−1(A) ��� ��$� A ∈ H(X)�

4� 
 W �&�� ��� ���$��
 �
	��� A ∈ H(X)� ��� ������� ��
 �
�

A =
∞⋂

n=0

f◦ (−n)(X) = lim
n→∞W ◦n(X).

8��$����	� 
�� 
 f ��
��� �
� �����
�$��
 ���$��
 ���� �� f(O) �� ����� ���
������
 ��������� ��� 	������� &���� (f(X), ρ) ����������� O ⊂ X ����� ���
������
 ��������� ��� 	������� &���� (X, ρ)! %
��

7� � W ����� ��� ����&� 	����&
	����	
 ��
 ��� 	�����
 &��� (H(X), h(ρ))
���
 ��� ������ ��� ���
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9� �� 
 f �&�� ����� ����	�� 
�� �� Y ���� 	
�� ��� X� ���� ��� f−1(X) ⊂ X
��$� ����
 ��� X ⊂ f(X)� �
�� �� �������� �,��	
������ ��� �� �0���4�
��� �7� ��&����! �

8���9�
 �7�7� ����� λ ∈ C! 8��$����	� 
�� �� ����	��
 ����
	� {C; f(z) =
z2 − λ} �&�� ���� ��������
 ����� {z1, z2, . . . , zp} ⊂ C! ����� ε ��� ���� 	���
 
$����
 ���$	
 ! ����� 
�� X ��	)������ �
 �,���� Riemann C &��� (p+1) ����+
��� �,���� ������ ε! �' ������ 	�������� &�
��	�������� �
 �,������ 	�������!
��� �,���� �������������� �� ��$� �
	��� ��� ������ ��� 	�� �,���� �����������+
��� ��� �
	��� ��� �������! 3�����	� ��� �-- 	�

{X;w1(z) =
√

z + λ, w2(z) = −√
z + λ}.

%
�� � 	����&
	����	
 W ���� H(X)� � ����� �������� ��
 �
�

W (B) = w1(B) ∪ w2(B)

��� ��$� B ∈ H(X)� ����������� ��� H(X) ���� ����
 ���� ����&� � ��
 �
 	������
Hausdorff ��� H(X)!

1�������� 
 W : H(X) → H(X) �&�� ��� 	������
 ���$��
 �
	���� Jλ� ��
������ Julia ��� z2 − λ! ����
 

lim
n→∞W ◦n(B) = Jλ

��� ��$� B ∈ H(X)! %� ���� ��������	��� ��&���� ����
 �� 
 ���&�� �
 ��&� 
{f◦n(0)}� ��������� ��� �� �
	��� ��� ������� ��� X = C \ S(∞, ε)! �

8���9�
 �7�7� 3 ������� A(λ) ��� �-- {C;λz − 1, λz + 1} ����� ����� 
�������� � �� |λ| < 0.5 ��� ��������
 � �� 1 > |λ| > 1/

√
2! %� ������ ���

��������&�� ���
��� Mandelbrot �����&���� ���� �������� 1/2 ≤ |λ| ≤ 1/
√

2!
�

����
�9 �7�7� 8��$����	� 
�� Q◦n
c (0) �→ ∞! ����� U1 = {z ∈ C : Q◦n

c (z) →
∞}! %
�� ����&�� ��� ��������
 �	���	��,��	
 φc:U1 → {z ∈ C : |z| > 1}
������ � ���� φc(Qc(z)) = (φc(z))2! 1��������� �� J(Qc) ����� �� ������ ��� U1!
�

������
 �7�7� "� Q◦n
c (0) �→ ∞� �
�� �� Kc ����� ��������
! �

����
�9 �7�7� 8��$����	� 
�� Q◦n
c (0) → ∞! %
�� �� J(Qc) ����������� ��


������ ����� ��������� ��������� ��������� ! �

:�	���!�)� � * �	 3*����� ��
�� ��� ��� 3�*���� ��
�� #�	��� *��

M = {c ∈ C : Kc �
��� ��������*}.
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unit UtilUnit;
interface
uses
Crt,Graph;

const
maxcol = 640;
maxrow = 480;

type
Tstring = string[80];

var
BildName : Tstring;
Xmin,Xmax,Ymin,Ymax : real;
GraphDriver,GraphMode,color,hd,xco,yco,startx,starty : integer;

(*------------------------------------------------UTILITY1-------*)
procedure LiesReal(information : Tstring;var wert : real);
procedure LiesInteger(information : Tstring;var wert : integer);
procedure LiesString(information : Tstring;var wert : Tstring);
procedure InfoAusgeben(information : Tstring);
procedure WeiterRechnen(information : Tstring);
procedure NeueZeile(n : integer);
(*------------------------------------------------UTILITY1-------*)
(*------------------------------------------------GRAFIC---------*)
procedure SetzeBildPunkt(xs,ys : integer);
procedure GeheZuBildPunkt(xs,ys : integer);
procedure SetzeWeltPunkt(xw,yw : real);
procedure GeheZuWeltPunkt(xw,yw : real);
procedure ZieheBildLinie(xs,ys : integer);
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procedure ZieheWeltLinie(xw,yw : real);
procedure GrafMode;
procedure EnterGrafic;
procedure ExitGrafic;
(*------------------------------------------------GRAFIC---------*)
(*------------------------------------------------UTILITY2-------*)
procedure ForWd(s : real);
procedure Back(s : real);
procedure Turn(angle : integer);
procedure StartTurtle;
(*------------------------------------------------UTILITY2-------*)
Implementation
(*------------------------------------------------UTILITY1-------*)
procedure LiesReal;
begin

write(information);
readln(wert)

end;

procedure LiesInteger;
begin

write(information);
readln(wert)

end;

procedure LiesString;
begin

write(information);
readln(wert)

end;

procedure InfoAusgeben;
begin

writeln(information);
writeln

end;

procedure WeiterRechnen;
begin

write(information,’<RETURN>-Taste druecken’);
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readln
end;

procedure Neuezeile;
var
i : integer;

begin
for i:=1 to n do
writeln

end;
(*------------------------------------------------UTILITY1-------*)
(*------------------------------------------------GRAFIC---------*)
procedure SetzeBildPunkt;
begin

MoveTo(xs,maxrow-ys);
LineRel(0,0)

end;

procedure GeheZuBildPunkt;
begin

MoveTo(xs,maxrow-ys)
end;

procedure SetzeWeltPunkt;
var
xs,ys : real;

begin
xs:=(xw-Xmin)*maxcol/(Xmax-Xmin);
ys:=(yw-Ymin)*maxrow/(Ymax-Ymin);
SetzeBildPunkt(round(xs),round(ys))

end;

procedure GeheZuWeltPunkt;
var
xs,ys : real;

begin
xs:=(xw-Xmin)*maxcol/(Xmax-Xmin);
ys:=(yw-Ymin)*maxrow/(Ymax-Ymin);
GeheZuBildPunkt(round(xs),round(ys))

end;
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procedure ZieheBildLinie;
begin

LineTo(xs,maxrow-ys)
end;

procedure ZieheWeltLinie;
var
xs,ys : real;

begin
xs:=(xw-Xmin)*maxcol/(Xmax-Xmin);
ys:=(yw-Ymin)*maxrow/(Ymax-Ymin);
ZieheBildLinie(round(xs),round(ys))

end;

procedure GrafMode;
begin

ClrScr;
GraphDriver:=Detect;
InitGraph(GraphDriver,GraphMode,’c:\tp\bgi’);
SetGraphMode(GraphMode)

end;

procedure EnterGrafic;
begin

writeln(’Nach Ende der Zeichnung ’);
writeln(’<RETURN> - Taste druecken ’);
GotoXY(1,23);
writeln(’------------GrafMode------------’);
WeiterRechnen(’Beginnen :’);
GrafMode

end;

procedure ExitGrafic;
begin

readln;
CloseGraph;
RestoreCrtMode;
GotoXY(1,23);
writeln(’------------TextMode------------’)
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end;
(*------------------------------------------------GRAFIC---------*)
(*------------------------------------------------UTILITY2-------*)
procedure ForWd;
var
x1,x2 : real;

begin
x1:=s*cos((hd*pi)/180);
x2:=s*sin((hd*pi)/180);
xco:=xco+trunc(x1);
yco:=yco+trunc(x2);
ZieheBildLinie(xco,yco)

end;

procedure Back;
begin

ForWd(-s)
end;

procedure Turn;
begin

hd:=(hd+angle) mod 360
end;

procedure StartTurtle;
begin

hd:=90;
xco:=startx;
yco:=starty;
SetzeBildPunkt(startx,starty)

end;
(*------------------------------------------------UTILITY2-------*)
end.
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